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ijh{k.k iqfLrdk
lkekU; vè;;u

(uoacj eSx”khu tk¡p ijh{kk)
fnukad& 13-11-2022

le; % nks ?k.Vs	 iw.kk±d % 200

vuqns'k
	 1-	 ijh{kk izkjEHk gksus ds rqjUr ckn] vki bl ijh{k.k iqfLrdk dh iM+rky vo'; dj ysa fd blesa dksbZ fcuk 

Nik] iQVk ;k NwVk gqvk i`"B vFkok iz'u vkfn u gksA ;fn ,slk gks rks bls lgh ijh{k.k iqfLrdk ls cny 
yhft;sA

	 2-	 mÙkj&i=kd esa lgh LFkku ij ijh{k.k iqfLrdk vuqØe A, B, C ;k D ;FkkfLFkfr Li"V :i ls dwVc¼ dhft;sA 

	 3-	 bl iafDr ds lkFk esa fn;s x, dks"Bd esa vkidks viuk vuqØekad fy[kuk gSA ijh{k.k iqfLrdk ij vkSj oqQN u fy[ksaA
	 4-	 bl ijh{k.k iqfLrdk esa 100 iz'uka'k (iz'u) fn;s x, gSaA 

izR;sd iz'uka'k fganh vkSj vaxzs”kh eas Nik gSA izR;sd iz'uka'k 
esa pkj izR;qÙkj (mÙkj) fn;s x, gSaA buesa ls ,d izR;qÙkj 
dks pqu ysa] ftls vki mÙkj&i=kd ij vafdr djuk pkgrs gSaA ;fn vkidks ,slk yxs fd ,d ls vfèkd izR;qÙkj lgh 
gSa rks ml izR;qÙkj dks vafdr djsa tks vkidks loksZÙke yxsA izR;sd iz'uka'k ds fy;s dsoy ,d gh izR;qÙkj pquuk gSA

	 5-	 vkidks vius lHkh izR;qÙkj vyx ls fn;s x, mÙkj&i=kd ij gh vafdr djus gSaA mÙkj&i=kd esa fn;s x, funsZ'k 	
ns[k ysaA

	 6-	 lHkh iz'uksa ds vad leku gSaA

	 7-	 blls igys fd vki ijh{k.k iqfLrdk ds fofHkUu iz'uka'kksa ds izR;qÙkj mÙkj&i=kd ij vafdr djuk 'kq: djsa] vkidks 
izos'k izek.k&i=k ds lkFk izsf"kr vuqns'kksa ds vuqlkj dqN fooj.k mÙkj&i=kd esa nsus gSaA 

	 8-	 vki vius lHkh izR;qÙkjksa dks mÙkj&i=kd esa Hkjus ds ckn rFkk ijh{kk ds lekiu ij dsoy mÙkj&i=kd vèkh{kd dks 
lkSai nsaA vkidks vius lkFk ijh{k.k iqfLrdk ys tkus dh vuqefr gSA

	 9-	 dPps dke ds fy;s dqN i=kd ijh{k.k iqfLrdk ds var esa layXu gSaA

	 10.	 xyr mÙkjksa ds fy;s naM%
		  oLrqfu"B iz'ui=kksa esa mEehnokj }kjk fn;s x, xyr mÙkjksa ds fy;s naM fn;k tk,xkA
	 (i)	 izR;sd iz'u ds fy;s pkj oSdfYid mÙkj gSaA mEehnokj }kjk izR;sd iz'u ds fy;s fn;s x, ,d xyr mÙkj ds fy;s 

iz'u gsrq fu;r fd;s x, vadksa dk ,d&frgkbZ naM ds :i esa dkVk tk,xkA
	 (ii)	 ;fn dksbZ mEehnokj ,d ls vfèkd mÙkj nsrk gS] rks bls xyr mÙkj ekuk tk,xk] pkgs fn;s x, mÙkjksa esa ls ,d mÙkj 

lgh gks] ml iz'u ds fy;s mi;qZDrkuqlkj gh naM fn;k tk,xkA
	(iii)	 ;fn mEehnokj }kjk dksbZ iz'u gy ugha fd;k tkrk gS vFkkZr~ mEehnokj }kjk mÙkj ugha fn;k tkrk gS] rks ml iz'u ds 

fy;s dksbZ naM ugha fn;k tk,xkA

tc rd vkidks ;g ijh{k.k iqfLrdk [kksyus dks u dgk tk, rc rd u [kksysa

djsaV vQs;lZ VqMs
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	 1.	 Hkkjr ds lafo/ku esa ekuo Je dh xfjek ds egÙo 
vkSj Jfedksa ds fgrksa dh j{kk dh vko';drk ls tqM+s 
çko/kuksa esa 'kkfey gSa&

	 1.	 vuqPNsn 16	 2.	 vuqPNsn 19
	 3.	 vuqPNsn 23	 4.	 vuqPNsn 39
	 5.	 vuqPNsn 40

	 	uhps fn;s x, dwV dk ç;ksx dj lgh mÙkj pqfu;s%

	 (a)	 1] 2] 3 vkSj 4	 (b)	 dsoy 2 vkSj 5
	 (c)	 dsoy 1] 3 vkSj 5	 (d)	 1] 2] 3] 4 vkSj 5

	 2.	 dkj[kkuk vf/fu;e] 1881 ds lanHkZ esa fuEufyf[kr 
dFkuksa ij fopkj dhft;s%

	 1.	 bldk mn~ns'; fczfV'k fu;ksDrkvksa ds fgrksa dh j{kk 
djuk FkkA

	 2.	 bl vf/fu;e dks vkS|ksfxd e”knwjksa dh e”knwjh 
r; djus vkSj e”knwjksa dks VªsM ;wfu;u cukus dh 
vuqefr nsus ds mn~ns'; ls ikfjr fd;k x;k FkkA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1
	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa
	 (d)	 u rks 1 vkSj u gh 2

	 3.	 Hkkjr ds lafo/ku ds vuqPNsn 131 ds rgr fuEufyf[kr 
esa ls dkSu&ls ekeys lokZsPp U;k;ky; ds vkjafHkd 
vfèkdkfjrk ds varxZr vkrs gSa\

	 1.	 Hkkjr ljdkj vkSj ,d ;k vf/d jkT;ksa ds chp
	 2.	 Hkkjr ljdkj vkSj dsaæ 'kkflr çns'kksa ds chp
	 3.	 ,d rjiQ Hkkjr ljdkj vkSj dksbZ ,d jkT; ;k 

,d ls vf/d jkT; rFkk nwljh rjiQ ,d ;k ,d 
ls vf/d jkT;ksa ds chp

	 4.	 nks ;k nks ls vf/d jkT;ksa ds chp

	 	uhps fn;s x, dwV dk ç;ksx dj lgh mÙkj pqfu;s%

	 (a)	 dsoy 1] 3 vkSj 4	 (b)	 dsoy 1] 2 vkSj 3
	 (c)	 dsoy 2 vkSj 4	 (d)	 1] 2] 3 vkSj 4

	 4.	 fuEufyf[kr esa ls fdu ekeyksa esa lokZsPp U;k;ky; dk 
vuU; ewy {ks=kkf/dkj ykxw ugha gksrk gS\

	 1.	 varj&jkT;h; ty fookn
	 2.	 foÙk vk;ksx dks lanfHkZr ekeys
	 3.	 la?k vkSj jkT;ksa ds chp dqN [kpks± ,oa isa'ku dk 

lek;kstu

	 	uhps fn;s x, dwV dk ç;ksx dj lgh mÙkj pqfu;s%

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 1 vkSj 3
	 (c)	 dsoy 2 vkSj 3	 (d)	 1] 2 vkSj 3

	 1.	 The provisions in the Constitution of India relating 
to the importance of dignity of human labour and 
the need to protect the interests of workers include:

	 1.	 Article 16	 2.	 Article 19
	 3.	 Article 23	 4.	 Article 39
	 5.	 Article 40
		  Select the correct answer using the code given 

below :
	 (a)	 1, 2, 3 and 4	 (b)	 2 and 5 only
	 (c)	 1, 3 and 5 only	 (d)	 1, 2, 3, 4 and 5
	 2.	  Consider the following statements with reference 

to the Factories Act, 1881:
	 1.	 The aim was to protect the interests of British 

employers.
	 	 2. The Act was passed with a view to fix the 

wages of industrial workers and to allow the 
workers to form trade unions.

		  Which of the above statement(s) is/are correct?
	 (a)	 1 only
	 (b)	 2 only
	 (c)	 Both 1 and 2
	 (d)	 Neither 1 nor 2
	 3.	 Which of the following matters come under the 

original jurisdiction of the Supreme Court under 
Article 131 of the Constitution of India?

	 1.	 Between the Government of India and one or 
more States

	 2.	 Between the Government of India and the 
Union Territories

	 3.	 Between the Government of India and any one 
State or more states on the one hand and one 
or more States on the other

	 4.	 Between two or more states
		  Select the correct answer using the code given 

below:
	 (a)	 1, 3 and 4 only	 (b)	 1, 2 and 3 only
	 (c)	 2 and 4 only	 (d)	 1, 2, 3 and 4
	 4.	 In which of the following cases does the exclusive 

original jurisdiction of the Supreme Court not 
apply?

	 1.	 Inter-state water dispute
	 2.	 Matters referred to Finance Commission
	 3.	 Adjustment of certain expenses and pensions 

between the Union and the States
		  Select the correct answer using the code given 

below:
	 (a)	  1 and 2 only	 (b)	 1 and 3 only
	 (c)	  2 and 3 only	 (d)	 1, 2 and 3
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	 5.	 Hkkjr ds lafo/ku ds fdl vuqPNsn ds rgr jk"Vªifr 
dks e`R;qnaM dh l”kk dks cnyus ;k bls lekIr djus 
dk vf/dkj fn;k x;k gS\

	 (a)	 vuqPNsn 61	 (b)	 vuqPNsn 72
	 (c)	 vuqPNsn 124	 (d)	 vuqPNsn 161

	 6.	 fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 e`R;qnaM ij o"kZ 2015 ds fof/ vk;ksx dh fjiksVZ 
us vkradokn ls lacaf/r ekeyksa lfgr e`R;qnaM dks 
lekIr djus dh fliQkfj'k dh FkhA

	 2.	 fdlh Hkh ns'k us u rks dkuwu vkSj u gh O;ogkj 
esa e`R;qnaM dks lekIr fd;k gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2

	 7.	 jkT;iky dh foosdk/hu 'kfDr;ksa ds varxZr fuEufyf[kr 
esa ls dkSu 'kkfey gSa\

	 1.	 eq[;ea=kh dh fu;qfDr
	 2.	 eaf=kifj"kn dks Hkax djuk
	 3.	 jkT; vkikrdky dh ?kks"k.kk ds fy;s jk"Vªifr dks 

lykg nsuk
	 4.	 jk"Vªifr ds fopkj ds fy;s fdlh fo/s;d dks 

vkjf{kr djuk
	 5.	 lnu dk l=k vkgwr djuk

	 	uhps fn;s x, dwV dk ç;ksx dj lgh mÙkj pqfu;s%

	 (a)	 1] 2] 3 vkSj 4
	 (b)	 dsoy 1 vkSj 5
	 (c)	 dsoy 2] 3 vkSj 4
	 (d)	 1] 2] 3] 4 vkSj 5

	 8.	 Hkkjr ds lafo/ku ds vuqPNsn 143 ds lanHkZ esa 
fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 blds vuqlkj jk"Vªifr tufgr ds fdlh fo"k; ds 
lanHkZ esa dkuwu ds çko/ku ij mPpre U;k;ky; 
ls jk; ekaxrk gSA

	 2.	 blds rgr jk"Vªifr ds ikl yksd dY;k.k ls tqM+s 
ç'uksa dks mPpre U;k;ky; dks lanfHkZr djus dh 
'kfDr gSA

	 3.	 bl vuqPNsn ds rgr de&ls&de rhu ttksa dh 
ihB dk xBu djus dk çko/ku gSA

	 4.	 bl vuqPNsn ds rgr mPpre U;k;ky; }kjk jk"Vªifr 
dks nh xbZ lykg ckè;dkjh gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 2 vkSj 4	 (b)	 1] 2 vkSj 3
	 (c)	 dsoy 1 vkSj 2	 (d)	 dsoy 4

	 5.	 Under which Article of the Constitution of India, 
the President has been empowered to change or 
abolish the death penalty?

	 (a) 	 Article 61	 (b)	 Article 72
	 (c) 	 Article 124	 (d)	 Article 161

	 6.	 Consider the following statements:
	 1.	 The 2015 Law Commission report on capital 

punishment had recommended abolition of 
death penalty, including in terror-related 
cases.

	 2.	 No country has abolished the death penalty 
neither in law nor in practice.

		  Which of the above statements (s) is/are not 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 7.	 Which of the following is included under the 
discretionary powers of the Governor?

	 1.	 Appointment of Chief Minister
	 2.	 Dissolution of the Council of Ministers
	 3.	 To advise the President to declare a state 

emergency
	 4.	 Reserving a Bill for the consideration of the 

President
	 5.	 Convene a session of the House

		  Select the correct answer using the code given 
below:		

	 (a)	 1, 2, 3 and 4
	 (b)	 1 and 5 only
	 (c)	 2, 3 and 4 only
	 (d)	 1, 2, 3, 4 and 5
	 8.	 Consider the following statements with reference 

to Article 143 of the Constitution of India:
	 1.	 According to it, the President seeks the 

opinion of the Supreme Court on the provision 
of law in respect of any matter of public 
interest.

	 2.	 Under this, the President has the power to 
refer questions related to public welfare to 
the Supreme Court.

	 3.	 Under this article, there is a provision to 
constitute a bench of at least three judges.

	 4.	 Under this article, the advice given by the 
Supreme Court to the President is binding.

		  Which of the above statement(s) is/are correct?		
	 (a)	 2 and 4 only	 (b)	 1, 2 and 3
	 (c)	 1 and 2 only	 (d)	 4 only
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	 9.	 ^,d jk"Vª ,d moZjd* ds lanHkZ esa fuEufyf[kr dFkuksa 
ij fopkj dhft;s%

	 1.	 bl ;kstuk ds rgr lHkh moZjd daifu;ksa] jkT; 
laLFkkvksa vkSj moZjd foi.ku laLFkkvksa dks moZjdksa 
dks ,d gh czkaM ^Hkkjr* rFkk yksxks (Logo) dk 
mi;ksx djuk gksxkA

	 2.	 moZjd lfClMh ;kstuk dk uke cnydj ̂ çèkkuea=kh 
Hkkjrh; tuqoZjd ifj;kstuk* (ih,echtsih) dj 
fn;k x;k gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1
	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa
	 (d)	 u rks 1 vkSj u gh 2

	 10.	 fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 ykWftfLVDl çn'kZu lwpdkad fo'o vkfFkZd eap 
}kjk tkjh fd;k tkrk gSA

	 2.	 ykWftfLVDl bZ”k vØkWl fMiQjsaV LVsV~l (yhM~l) 
baMsDl uhfr vk;ksx }kjk tkjh fd;k tkrk gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1
	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa
	 (d)	 u rks 1 vkSj u gh 2

	11.	 Hkkjr esa ykWftfLVd ls lacaf/r igyksa ds varxZr 
fuEufyf[kr esa ls dkSu&ls 'kkfey gSa\

	 1.	 Hkkjrekyk ifj;kstuk
	 2.	 ih,e xfr 'kfDr ;kstuk
	 3.	 lkxjekyk çkstsDV~l
	 4.	 MsfMdsVsM ÚsV dkWfjMksj
	 5.	 eky dk cgqfof/ ifjogu vf/fu;e] 1993

	 	uhps fn;s x, dwV dk ç;ksx dj lgh mÙkj pqfu;s%

	 (a)	 1] 3] 4 vkSj 5
	 (b)	 dsoy 2 vkSj 4
	 (c)	 dsoy 1] 3 vkSj 5
	 (d)	 1] 2] 3] 4 vkSj 5

	 12.	 fo'o çfrLi¼kZRedrk lwpdkad fuEufyf[kr esa ls dkSu 
tkjh djrk gS\

	 (a)	 fo'o cSad
	 (b)	 çca/u fodkl laLFkku
	 (c)	 fo'o O;kikj laxBu
	 (d)	 fo'o vkfFkZd eap

	 9.	 With reference to ' One Nation One Fertiliser', 
consider the following statements:

	 1.	 Under this scheme, all fertilizer companies, 
state institutions and fertilizer marketing 
institutions will have to use the same brand 
'Bharat' and logo for fertilizers.

	 2.	 The fertiliser subsidy scheme has been 
renamed as 'Pradhan Mantri Bhartiya 
Januvarak Pariyojana' (PMBJP).

		  Which of the above statement(s) is/are correct?		
	 (a)	 1 Only
	 (b)	 2 Only
	 (c)	 Both 1 and 2
	 (d)	 Neither 1 nor 2
	 10.	 Consider the following statements:
	 1.	 The Logistics Performance Index is released 

by the World Economic Forum.
	 2.	 The Logistics Ease Across Different States 

(LEEDS) Index is released by NITI Aayog.
		  Which of the above statement(s) is/are correct?		
	 (a)	 1 only
	 (b)	 2 only
	 (c)	 Both 1 and 2
	 (d)	 Neither 1 nor 2
	 11.	 Which of the following are covered under logistics 

related initiatives in India?
	 1.	 Bharatmala Project
	 2.	 PM Gati Shakti Yojana
	 3.	 Sagarmala Projects
	 4.	 Dedicated Freight Corridor
	 5.	 Multimodal Transportation of Goods Act, 

1993
	 	 Select the correct answer using the code given 

below:		
	 (a)	 1, 3, 4 and 5
	 (b)	 2 and 4 Only
	 (c)	 1, 3 and 5 Only
	 (d)	 1, 2, 3, 4 and 5
	 12.	 Which of the following releases the World 

Competitiveness Index?
	 (a)	 World Bank
	 (b)	 Management Development Institute
	 (c)	 World Trade Organization
	 (d)	 World Economic Forum
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	13.	 fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 Hkkjr fo'o dk lcls cM+k eksckby fofuekZrk gSA
	 2.	 eksckby iQksu Hkkjr ls bysDVªkWfuDl fu;kZr dk lcls 

cM+k ,dy ?kVd gSA
	 3.	 ,d {ks=kd ds :i esa bysDVªkWfuDl o"kZ 2022 esa 

Hkkjr NBk lcls cM+k fu;kZr {ks=kd FkkA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 2	 (b)	 2 vkSj 3
	 (c)	 dsoy 1	 (d)	 1] 2 vkSj 3

	14.	 fuEufyf[kr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 1.	 jpukRed oLrq vkSj lsok,¡] nksuksa gh Hkkjr dh 
jpukRed vFkZO;oLFkk dk fgLlk gSaA

	 2.	 la;qDr jk"Vª la?k us o"kZ 2021 dks ^lrr~ fodkl 
ds fy;s jpukRed vFkZO;oLFkk gsrq varjkZ"Vªh; o"kZ* 
ds :i esa euk;k FkkA

	 	uhps fn;s x, dwV dk ç;ksx dj lgh mÙkj pqfu;s%

	 (a)	 dsoy 1
	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa
	 (d)	 u rks 1 vkSj u gh 2

	15.	 fuEufyf[kr esa ls dkSu eksVs vukt ds varxZr 'kkfey 
fd;s tkrs gSa\

	 1.	 dksnks	 2.	 ckuZ;kMZ
	 3.	 tkS	 4.	 eDdk
	 5.	 iQkWDlVsy

	 	uhps fn;s x, dwV dk ç;ksx dj lgh mÙkj pqfu;s%

	 (a)	 1] 2] 3 vkSj 4
	 (b)	 dsoy 2 vkSj 5
	 (c)	 dsoy 1] 3 vkSj 5
	 (d)	 1] 2] 3] 4 vkSj 5

	16.	 fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 yxkrkj chrs rhu o"kks± esa `5000 djksM+ dk 'kq¼ 
ykHk çkIr fd;k gksA

	 2.	 chrs rhu o"kks± esa vkSlr dkjksckj `15000 djksM+ 
FkkA

	 3.	 chrs rhu o"kks± ds fy;s mldk vkSlr okf"kZd 'kq¼ 
ewY; `10000 djksM+ FkkA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls dFku lkoZtfud {ks=k 
ds m|e dks egkjRu dk ntkZ nsus ds çko/ku esa 'kkfey 
gS@gSa\

	 (a)	 dsoy 1	 (b)	 1 vkSj 3
	 (c)	 1 vkSj 2	 (d)	 2 vkSj 3

	 13.	 Consider the following statements:
	 1.	 India is the world's largest mobile manufacturer.
	 2.	 Mobile phones are the largest single 

component of electronics exports from India.
	 3.	 As a sector, electronics was the sixth largest 

export sector in India in 2022.
		  Which of the above statement(s) is/are correct?		
	 (a)	 2 only	 (b)	 2 and 3
	 (c)	 1 only	 (d)	 1, 2 and 3

	 14.	 Which of the following statement(s) is/are correct?
	 1.	 Creative goods and services are both a part of 

India's creative economy.
	 2.	 The United Nations celebrated the year 2021 

as the 'International Year for creative economy 
for sustainable development'.

		  Select the correct answer using the code given 
below:		

	 (a)	 1 only
	 (b)	  2 only
	 (c)	 Both 1 and 2
	 (d)	 Neither 1 nor 2

	 15.	 Which of the following are included under Coarse 
cereals?

	 1.	 Kodo	 2.	 Barnyard
	 3.	 Barley	 4.	 Corn
	 5.	 Foxtail
		  Select the correct answer using the code given 

below:		
	 (a)	 1, 2, 3 and 4
	 (b)	  2 and 5 only
	 (c)	 1, 3 and 5 only
	 (d)	 1, 2, 3, 4 and 5
	 16.	 Consider the following statements:
	 1.	 In the last three consecutive years, a net profit 

of `5000 crores has been achieved.
	 2.	 The average turnover in the last three years 

was `15,000 crores.
	 3.	 Its average annual net worth for the last three 

years was `10,000 crores.
		  Which of the above statement(s) is/are included in 

the provision for granting Maharatna status to a 
public sector enterprise?		

	 (a)	 1 only	 (b)	 1 and 3
	 (c)	 1 and 2	 (d)	 2 and 3
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	17.	 fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 dsaæh; lkoZtfud {ks=k ds m|eksa ds fy;s Hkkjrh; 

LVkWd ,Dlpsat esa lwphc¼ gksus gsrq uojRu dk 
ntkZ çkIr djuk vfuok;Z ugha gSA

	 2.	 lkoZtfud {ks=k ds cM+s m|eksa dks oSf'od fnXxt 
cukus ds fy;s egkjRu O;oLFkk dh 'kq#vkr o"kZ 
2010 esa dh xbZ FkhA

	 3.	 gky gh esa xzkeh.k fo|qrhdj.k fuxe (REC) dks 
egkjRu dk ntkZ fn;k x;k gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&ls lgh gSa\
	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 1 vkSj 3
	 (c)	 dsoy 2 vkSj 3	 (d)	 1] 2 vkSj 3

	 18.	 ,f'k;kbZ ike vk;y xBca/u ds lanHkZ esa fuEufyf[kr 
dFkuksa ij fopkj dhft;s%

	 1.	 Hkkjr] ikfdLrku] Jhyadk] ckaXykns'k vkSj usiky ds 
'kh"kZ m|ksx la?kksa us blds xBu ij lgefr O;Dr 
dh gSA

	 2.	 bldh igyh vke cSBd vkxjk (Hkkjr) esa 
vk;ksftr dh xbZA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2

	 19.	 fuEufyf[kr esa ls fdl lewg ds lHkh pkjksa ns'k 'ka?kkbZ 
lg;ksx laxBu (SCO) ds laLFkkid lnL; gSa\

	 (a)	 d”kk[kLrku] phu] rkf”kfdLrku] fdfxZLrku
	 (b)	 rqdZesfuLrku] :l] rkf”kfdLrku] fdfxZLrku
	 (c)	 rqdZesfuLrku] mTcsfdLrku] rkf”kfdLrku]

d”kk[kLrku
	 (d)	 d”kk[kLrku] rqdZesfuLrku] m”csfdLrku] phu

	 20.	 xksxjk&gkWV fLçax {ks=k fuEufyf[kr esa ls dgk¡ fLFkr gS\
	 (a)	 mÙkjh yn~nk[k	 (b)	 iwohZ yn~nk[k
	 (c)	 flfDde	 (d)	 nf{k.kh yn~nk[k

	 21.	 'ka?kkbZ lg;ksx laxBu f'k[kj lEesyu 2022 ds lanHkZ 
esa fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 lejdan ?kks"k.kk ij lnL; jkT;ksa }kjk gLrk{kj fd;s 
x, FksA

	 2.	 lnL; ns'kksa us vkradokfn;ksa] vyxkooknh vkSj 
mxzoknh laxBuksa dh lk>k lwph cukus ij lgefr 
O;Dr dh FkhA

	 3.	 Hkkjr us SCO ls o"kZ 2023 dks varjkZ"Vªh; nygu 
o"kZ ds :i esa fpfÉr djus dk vkxzg fd;kA

	 	mi;ZqDr dFkuksa esa ls dkSu&ls lgh gSa\
	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 1 vkSj 3
	 (c)	 dsoy 2 vkSj 3	 (d)	 1] 2 vkSj 3

	 17.	 Consider the following statements:
	 1.	 It is not mandatory for central public sector 

enterprises to obtain Navratna status to get 
listed on the Stock Exchange of India.

	 2.	 The Maharatna system was introduced in 2010 
to make large public sector enterprises global 
leaders.

	 3.	 Recently, rural electrification corporation 
(REC) has been given maharatna status.

		  Which of the above statements are correct?
	 (a)	 1 and 2 only	 (b)	 1 and 3 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3
	 18.	 Consider the following statements with reference 

to the Asian Palm Oil Alliance:
	 1.	 Top industry associations of India, Pakistan, 

Sri Lanka, Bangladesh and Nepal have agreed 
to set up it.

	 2.	 Its first general meeting was held in Agra 
(India).

		  Which of the above statement(s) is/are correct?		
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 19.	  All the four countries of which of the following 

group are founding members of Shanghai 
Cooperation Organisation (SCO)?

	 (a)	 Kazakhstan, China, Tajikistan, Kyrgyzstan
	 (b)	 Turkmenistan, Russia, Tajikistan, Kyrgyzstan
	 (c)	 Turkmenistan, Uzbekistan, Tajikistan, Kazakhstan
	 (d)	 Kazakhstan, Turkmenistan, Uzbekistan, China
	 20.	 Gogra-Hot Spring area is located in which of the 

following?
	 (a)	 Northern Ladakh	 (b)	 Eastern Ladakh
	 (c)	 Sikkim	 (d)	 Southern Ladakh
	 21.	 Consider the following statements with reference 

to Shanghai Cooperation Organisation Summit 
2022:

	 1.	 The Samarkand Declaration was signed by 
the Member States.

	 2.	 The member countries had agreed to create 
a common list of terrorists, separatists and 
militant organisations.

	 3.	 India urged the SCO to mark the year 2023 
as the International Year of Pulses.

		  Which of the above statements are correct?		
	 (a)	 1 and 2 only	 (b)	 1 and 3 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3
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	 22.	 ijek.kq vçlkj laf/ (NPT) ds lanHkZ esa fuEufyf[kr 
dFkuksa ij fopkj dhft;s%

	 1.	 fujL=khdj.k ds y{; ds fy;s cgqi{kh; laf/ esa 
;g ,dek=k ckè;dkjh çfrc¼rk gSA

	 2.	 Hkkjr ijek.kq vçlkj laf/ ls lger gS vkSj bldk 
gLrk{kjdÙkkZ Hkh gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1
	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa
	 (d)	 u rks 1 vkSj u gh 2

	 23.	 fuEufyf[kr ns'kksa ij fopkj dhft;s%
	 1.	 yhfc;k	 2.	 lwMku
	 3.	 lÅnh vjc	 4.	 tkWMZu
	 5.	 b”kjkby

	 	mi;ZqDr esa ls fdudh lhek,¡ felz ds lkFk yxrh gSa\
	 (a)	 dsoy 1] 2 vkSj 5
	 (b)	 dsoy 1] 2] 3 vkSj 4
	 (c)	 dsoy 3] 4 vkSj 5
	 (d)	 1] 2] 3] 4 vkSj 5

	 24.	 fuEufyf[kr jkT;ksa ij fopkj dhft;s%
	 1.	 dukZVd	 2.	 jktLFkku
	 3.	 egkjk"Vª	 4.	 eè; çns'k

	 	mi;ZqDr esa ls vkerkSj ij fdrus eksVs vukt mRiknd 
jkT; ds :i esa tkus tkrs gSa\

	 (a)	 dsoy ,d jkT;
	 (b)	 dsoy nks jkT;
	 (c)	 dsoy rhu jkT;
	 (d)	 lHkh pkjksa jkT;

	 25.	 varjkZ"Vªh; ijek.kq ÅtkZ ,tsalh ds lanHkZ esa fuEufyf[kr 
dFkuksa ij fopkj dhft;s%

	 1.	 ;g lqjf{kr vkSj 'kkafriw.kZ ijek.kq çkS|ksfxdh dks 
c<+kok nsus ds fy;s ,d Lok;Ùk varj ljdkjh 
fudk; gSA

	 2.	 bldk eq[;ky; isfjl esa vofLFkr gS vkSj orZeku 
esa blesa 175 lnL; ns'k 'kkfey gSaA

	 3.	 Hkkjr bldk ,d ^ukfer lnL;* gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 3	 (b)	 1 vkSj 3
	 (c)	 dsoy 2	 (d)	 2 vkSj 3

	 26.	 bZLVuZ bdksukWfed iQksje ds lanHkZ esa fuEufyf[kr dFkuksa 
ij fopkj dhft;s%

	 1.	 ;g m|fe;ksa ds fy;s :l ds lqnwj iwoZ (RFE) esa 
vius dkjksckj dk foLrkj djus gsrq iQksje gSA

	 22.	 Consider the following statements with reference 
to the Nuclear Non-Proliferation Treaty (NPT):

	 1.	 This is the only binding commitment in the 
multilateral treaty to the goal of disarmament.

	 2	 .India agrees to and is also a signatory to the 
Nuclear Non-Proliferation Treaty.

		  Which of the above statement(s) is/are correct?		
	 (a)	 1 only
	 (b)	 2 only
	 (c)	 Both 1 and 2
	 (d)	 Neither 1 nor 2
	 23.	 Consider the following countries:
	 1.	 Libya	 2.	 Sudan
	 3.	 Saudi Arabia	 4.	 Jordan
	 5.	 Israel
		  Which of the above shares borders with Egypt?
	 (a)	  1, 2 and 5 only
	 (b)	 1, 2, 3 and 4 only
	 (c)	  3, 4 and 5 only
	 (d)	 1, 2, 3, 4 and 5
	 24.	 Consider the following states:
	 1.	 Karnataka	 2.	 Rajasthan
	 3.	 Maharashtra	 4.	 Madhya Pradesh
		  How many of the above are commonly known as 

coarse grain producing states?		
	 (a)	 Only one state
	 (b)	 Only two state
	 (c)	 Only three states
	 (d)	 All four states
	 25.	 With reference to The International Atomic Energy 

Agency (IAEA) consider the following statements:
	 1.	 It is an autonomous intergovernmental body to 

promote safe and peaceful nuclear technology.
	 2.	 It is headquartered in Paris and currently 

consists of 175 member states.
	 3.	 India is a 'nominated member' of it.
		  Which of the above statement(s) is/are correct?		
	 (a)	 3 only	 (b)	 1 and 3
	 (c)	 2 only	 (d)	 2 and 3
	 26.	 Consider the following statements with reference 

to the Eastern Economic Forum:
	 1.	 It is a forum for entrepreneurs to expand their 

business in the Far East (RFE) of Russia.
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	 2.	 ble s a  le>k Sr s  c q fu;knh <k ¡p s ] ifjogu 
ifj;kstukvksa] [kfut mR[kuu] fuekZ.k] m|ksx vkSj 
Ñf"k ij dsafær gSaA

	 3.	 phu :l ds lqnwj iwoZ {ks=k esa lcls cM+k fuos'kd gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 1 vkSj 3
	 (c)	 dsoy 2 vkSj 3	 (d)	 1] 2 vkSj 3

	 27.	 fuEufyf[kr ns'kksa ij fopkj dhft;s%

	 1.	 felz	 2.	 ;eu
	 3.	 vkseku	 4.	 bjkd
	 5.	 tkWMZu

	 	mi;ZqDr esa ls fdudh lhek,¡ lÅnh vjc ds lkFk 
yxrh gSa\

	 (a)	 dsoy 1] 2 vkSj 5
	 (b)	 dsoy 1] 3 vkSj 4
	 (c)	 dsoy 2] 3] 4 vkSj 5
	 (d)	 1] 2] 3] 4 vkSj 5

	 28.	 la;qDr jk"Vª lqj{kk ifj"kn ds lanHkZ esa fuEufyf[kr dFkuksa 
ij fopkj dhft;s%

	 1.	 bldh LFkkiuk 1945 esa la;qDr jk"Vª ds pkVZj }kjk 
dh xbZ FkhA

	 2.	 gky gh esa phu dh vè;{krk esa bldh cSBd 
vk;ksftr dh xbZA

	 3.	 blesa dqy 15 lnL; gksrs gSa] ftuesa ls 10 lnL; 
vLFkk;h gksrs gSaA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 2	 (b)	 dsoy 1 vkSj 2
	 (c)	 dsoy 1 vkSj 3	 (d)	 1] 2 vkSj 3

	 29.	 fuEufyf[kr esa ls dkSu xSj&lapkjh jksx dh Js.kh ds 
varxZr vkrs gSa\

	 1.	 e/qesg	 2.	 nek
	 3.	 pspd	 4.	 Msaxw Toj
	 5.	 eq¡g dk dSalj

	 	uhps fn;s x, dwV dk ç;ksx dj lgh mÙkj pqfu;s%

	 (a)	 1] 2] 3 vkSj 4	 (b)	 dsoy 4 vkSj 5
	 (c)	 dsoy 1] 2 vkSj 5	 (d)	 1] 2] 3] 4 vkSj 5

	 30.	 thih,l vkSj ukfod (NavIC) ds eè; varjksa ij fopkj 
dhft;s%

	 1.	 thih,l dk mi;ksx fo'o Lrj ij fd;k tkrk gS] 
tcfd ukfod Hkkjr vkSj blds vklikl ds {ks=kksa 
esa mi;ksx ds fy;s cuk;k x;k gSaA

	 2.	 thih,l nksgjs vko`fÙk cSaM dk mi;ksx djrk gS] 
ogha ukfod ,dy vkòfÙk cSaM dk mi;ksx djrk gSA

	 2.	 The agreements focus on infrastructure, 
transport projects, mineral exploration, 
construction, industry and agriculture.

	 3.	 China is the largest investor in Russia's Far 
East region.

		  Which of the above statements are correct?		
	 (a)	  1 and 2 only	 (b)	 1 and 3 only
	 (c)	  2 and 3 only	 (d)	 1, 2 and 3
	 27.	 Consider the following countries:
	 1.	 Egypt	 2.	 Yemen
	 3.	 Oman	 4.	 Iraq
	 5.	 Jordan
		  Which of the above shares borders with Saudi 

Arabia?		
	 (a)	 1, 2 and 5 only
	 (b)	 1, 3 and 4 only
	 (c)	 2, 3, 4 and 5 only
	 (d)	 1, 2, 3, 4 and 5
	 28.	 Consider the following statements with reference 

to the United Nations Security Council:
	 1.	 It was established in 1945 by the Charter of 

the United Nations.
	 2.	 Recently, its meeting was held under the 

chairmanship of China.
	 3.	 It consists of a total of 15 members, out of 

which 10 members are temporary.
		  Which of the above statement(s) is/are correct?		
	 (a)	 2 only	 (b)	 1 and 2 only
	 (c)	 1 and 3 only	 (d)	 1, 2 and 3
	 29.	 Which of the following comes under the category 

of non-communicable disease?
	 1.	 Diabetes  	 2.	 Asthma
	 3.	 Smallpox	 4.	 Dengue fever
	 5.	 Mouth cancer
		  Select the correct answer using the code given 

below:		
	 (a)	 1, 2, 3 and 4	 (b)	  4 and 5 only
	 (c)	 1, 2 and 5 only	 (d)	 1, 2, 3, 4 and 5
	 30.	 Consider the difference between GPS and NavIC:
	 1.	 GPS is used globally, while Navik is designed 

for use in India and its surrounding areas.
	 2.	 GPS uses dual frequency band, while 

Navigator uses single frequency band.
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	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2

	31.	 MkVZ (DART) fe'ku ds lanHkZ esa fuEufyf[kr dFkuksa 
ij fopkj dhft;s%

	 1.	 MkVZ fe'ku dks bljks }kjk ykWUp fd;k x;k gSA
	 2.	 MkVZ] ^xfrt çHkko* (Kinetic Impactor) dk 

mi;ksx djus okyh igyh xzg j{kk ç.kkyh gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2

	 32.	 fuEufyf[kr esa ls dkSu CRISPR ls tqM+s çksVhu 9 ds 
laHkkfor vuqç;ksxksa esa ls gSa\

	 1.	 'kkduk'kh çfrjks/h iQlyksa dk fodkl
	 2.	 thukse&laiknu jksx mipkj
	 3.	 jSfiM Mk;XuksfLVd
	 4.	 fpfdRlh; Dyksfuax

	 	mi;ZqDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1] 2 vkSj 4	 (b)	 dsoy 1] 2 vkSj 3
	 (c)	 dsoy 3 vkSj 4	 (d)	 1] 2] 3 vkSj 4

	 33.	 fldy lsy ,uhfe;k ds lanHkZ esa fuEufyf[kr dFkuksa 
ij fopkj dhft;s%

	 1.	 ;g oa'kkuqxr jDr laca/h jksx gS] tks vÚhdh] 
vjc vkSj Hkkjrh; ewy ds yksxksa esa lcls vf/d 
çpfyr gSA

	 2.	 ;g 'kjhj esa gheksXyksfcu dks çHkkfor djrk gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2

	 34.	 budksoSd ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 
dhft;s%

	 1.	 ;g ukd ls fn;k tkus okyk dksfoM&jks/h Vhdk gSA
	 2.	 bls Hkkjr ck;ksVsd }kjk fodflr fd;k x;k gSA
	 3.	 ;g Sars-CoV-2 dks yf{kr djsxkA

	 	mi;ZqDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 1 vkSj 3
	 (c)	 dsoy 2 vkSj 3	 (d)	 1] 2 vkSj 3

	 35.	 osLV (WEST) igy ds lanHkZ esa fuEufyf[kr dFkuksa 
ij fopkj dhft;s%

	 1.	 ;g foKku] çkS|ksfxdh] bathfu;fjax vkSj xf.kr 
(STEM) i`"BHkwfe okyh efgykvksa dks foKku] 
çkS|ksfxdh rFkk uokpkj ikfjfLFkfrdh ra=k esa ;ksxnku 
djus gsrq l'kDr cuk,xhA

		  Which of the above statement(s) is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 31.	 Consider the following statements with reference 

to DART mission:
	 1.	 The DART mission has been launched by 

ISRO.
	 2.	 DART is the first planetary defense system to 

use the 'kinetic impactor'.
		  Which of the above statement(s) is/are correct?		
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 32.	 Which of the following are among the potential 

applications of CRISPR-linked protein 9?
	 1.	 Development of herbicide resistant crops
	 2.	 Genome-editing disease treatment
	 3.	 Rapid Diagnostic
	 4.	 Therapeutic Cloning
		  Which of the above statements are correct?
	 (a)	 1, 2 and 4 only	 (b)	 1, 2 and 3 only
	 (c)	 3 and 4 only	 (d)	 1, 2, 3 and 4
	 33.	 Consider the following statements with reference 

to sickle cell anemia:
	 1.	 It is a hereditary blood related disease, most 

prevalent among people of African, Arab and 
Indian origin.

	 2.	 It affects hemoglobin in the body.
		  Which of the above statement(s) is/are correct? 
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 34.	 Consider the following statements with respect to 

Incovac: 
	 1.	 It is an anti-COVID vaccine given by the nose.
	 2.	 It has been developed by Bharat Biotech.
	 3.	 It will target Sars-CoV-2.
		  Which of the above statements are correct?
	 (a)	 1 and 2 only	 (b)	 1 and 3 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3
	 35.	 Consider the following statements with reference 

to the WEST initiative:
	 1.	 It will empower women with science, 

technology, engineering and mathematics 
(STEM) backgrounds to contribute to 
the science, technology and innovation 
ecosystem.
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	 2.	 bl igy ds ekè;e ls I-STEM] oSKkfud :i 
ls bPNqd efgyk 'kks/dÙkkZvksa] oSKkfudksa vkSj 
çkS|ksfxdhfonksa dks foKku ,oa bathfu;fjax ds vxz.kh 
{ks=kksa esa csfld ;k vIykbM lkbalst esa vuqla/ku 
djus ds fy;s ,d vyx eap çnku djsxkA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2

	 36.	 ftKklk dk;ZØe ds lanHkZ esa fuEufyf[kr dFkuksa ij 
fopkj dhft;s%

	 1.	 ;g CSIR dh ,d çeq[k jk"Vªh; Lrj dh igy gSA
	 2.	 ;g ,d Nk=k&oSKkfud dusDV dk;ZØe gS] ftls 

dsaæh; fo|ky; laxBuksa ds lg;ksx ls 'kq: fd;k 
x;k gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 1
	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa
	 (d)	 u rks 1 vkSj u gh 2

	 37.	 iQLVZ MkdZ LdkbZ fj”koZ ds lanHkZ esa fuEufyf[kr dFkuksa 
ij fopkj dhft;s%

	 1.	 ;g Hkkjr dk igyk MkdZ LdkbZ fj”koZ gSA
	 2.	 ;g vkl&ikl Ñf=ke izdk'k çnw"k.k dks jksdrk gSA
	 3.	 bls yn~nk[k esa LFkkfir fd;k tk,xkA
	 4.	 bls i`Foh foKku ea=kky; }kjk LFkkfir fd;k tk,xkA

	 	mi;ZqDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1] 2 vkSj 4
	 (b)	 dsoy 1] 2 vkSj 3
	 (c)	 dsoy 3 vkSj 4	
	 (d)	 1] 2] 3 vkSj 4

	38.	 phrk ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 vkbZ;wlh,u jsM fyLV ds vuqlkj vÚhdh phrk 
^xaHkhj :i ls ladVxzLr* çtkfr gSA

	 2.	 Hkkjrh; oU;tho laLFkku us nqfu;k dh igyh 
varj&egk}hih; phrk LFkkukarj.k ifj;kstuk rS;kj 
dh gSA

	 3.	 jk"Vªh; ck?k laj{k.k çkf/dj.k (NTCA) us ukehfc;k 
ls vÚhdh phrk ykus dk iQSlyk fd;k gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1 vkSj 2
	 (b)	 dsoy 1 vkSj 3
	 (c)	 dsoy 2 vkSj 3
	 (d)	 1] 2 vkSj 3

	 2.	 Through this initiative, I-STEM will 
provide a separate platform for scientifically 
interested women researchers, scientists and 
technologists to conduct research in basic or 
applied sciences in frontier areas of science 
and engineering.

		  Which of the above statement(s) is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 36.	 Consider the following statements with reference 

to the Curiosity programme:
	 1.	 It is a major national level initiative of CSIR.
	 2.	 It is a student-scientist connect programme, 

which has been launched in collaboration with 
Kendriya Vidyalaya Organisations.

		  Which of the above statement(s) is/are not correct?
	 (a)	 1 only
	 (b)	 2 only
	 (c)	 Both 1 and 2
	 (d)	 Neither 1 nor 2
	 37.	 Consider the following statements with reference 

to First Dark Sky Reserve:
	 1.	 It is India's first dark sky reserve.
	 2.	 It prevents artificial light pollution around.
	 3.	 It will be set up in Ladakh.
	 4.	 It will be set up by the Ministry of Earth 

Sciences.
		  Which of the above statements are correct?
	 (a)	 1, 2 and 4 only
	 (b)	 1, 2 and 3 only
	 (c)	 3 and 4 only
	 (d)	 1, 2, 3 and 4		
	 38.	 Consider the following statements with respect to 

cheetah:
	 1.		  According to the IUCN Red List, the African 

cheetah is a " Critically Endangered" species.
	 2.	 The Wildlife Institute of India has prepared 

the world's first inter-continental cheetah 
relocation project.

	 3.	 The National Tiger Conservation Authority 
(NTCA) has decided to bring the African 
Cheetah from Namibia.

		  Which of the above statements are correct?
	 (a)	 1 and 2 only
	 (b)	 1 and 3 only
	 (c)	 2 and 3 only
	 (d)	 1, 2 and 3
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	 39.	 tyok;q {kfriwfrZ ds lanHkZ esa fuEufyf[kr dFkuksa ij 
fopkj dhft;s%

	 1.	 ;g tyok;q ifjorZu ds fy;s fodflr ns'kksa }kjk 
fd;s x, ,sfrgkfld mRltZu ;ksxnkuksa dks lacksf/r 
djus ds lk/u ds :i esa fodkl'khy ns'kksa dks 
fd;s tkus okys Hkqxrku dks lanfHkZr djrk gSA

	 2.	 ;g lkoZHkkSfed :i ls LohÑr ^çnw"kd Hkqxrku* 
fl¼kar dk foLrkj gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1
	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa
	 (d)	 u rks 1 vkSj u gh 2

	 40.	 fuEufyf[kr ;qXeksa ij fopkj dhft;s%

	    DykmM lhfMax ds çdkj		 rjhdk
	 1.	 gkbxzksLdksfid DykmM	 &	cknyksa ds fupys 

lhfMax	 	fgLls esa Tokykvksa 
	 	 		 	ds ekè;e ls ued 
	 	 		 	iQSyk;k tkrk gSA
	 2.	 LVsfVd DykmM lhfMax	 &	�flYoj vk;ksMkbM 

tSls jlk;u dks 
cknyksa esa iQSykukA

	 3.	 Mk;usfed DykmM	 &	blesa ÅèokZ/j ok;q 
lhfMax	 	jkf'k;ksa dks c<+kok

	 	 		 	�fn;k tkrk gS] tks 
cknyksa ls xq”kjus 
gsrq vf/d ty dks 
çksRlkfgr djrk gSA

	 	mi;ZqDr ;qXeksa esa ls fdrus ;qXe lgh lqesfyr gSa\

	 (a)	 dksbZ Hkh ;qXe ugha
	 (b)	 dsoy ,d ;qXe
	 (c)	 dsoy nks ;qXe
	 (d)	 lHkh rhuksa ;qXe

	 41.	 vy uhuks&nf{k.kh nksyu (ENSO) pØ ds lanHkZ esa 
fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 yk uhuk vy uhuks dh rqyuk esa de ckj ?kfVr 
gksrk gSA

	 2.	 vy uhuks dh rqyuk esa yk uhuk vf/d yacs le; 
rd cuk jg ldrk gSA

	 3.	 nksuksa ?kVuk,¡ mÙkjh xksyk¼Z esa lfnZ;ksa ds nkSjku pje 
ij gksrh gSaA

	 	mi;ZqDr esa ls dkSu&ls dFku lgh gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 1 vkSj 3
	 (c)	 dsoy 2 vkSj 3	 (d)	 1] 2 vkSj 3

	 39.	  Consider the following statements with reference 
to climate compensation:

	 1.	 It refers to payments to developing countries 
as a means of addressing historical emission 
contributions made by developed countries to 
climate change.

	 2.	 This is an extension of the universally 
accepted 'polluter payoff' principle.

		  Which of the above statement(s) is/are correct?
	 (a)	 1 only
	 (b)	 2 only
	 (c)	 Both 1 and 2
	 (d)	 Neither 1 nor 2
	 40.	 Consider the following pairs:
	    Types of Cloud Seeding		  Method
	 1.	 Hygroscopic Cloud	 -	 The salt is 	

	Seeding		  dispersed through  
		 	 the flames in the  
			  lower part of the  
			  clouds.

	 2.	 Static Cloud Seeding	 -	 To disperse a  
			  chemical such as  
			  silver iodide into  
			  the clouds.

	 3.	 Dynamic Cloud 	 –	  In this, vertical  
	Seeding		  a i r  m a s s e s  a r e  
			  promoted, which  
			  encourages more  
			  w a t e r  t o  p a s s  
			  through the clouds.

		  How many of the above pairs are correctly 
matched?		

	 (a)	 None of the pairs are matched
	 (b)	 Only one pair
	 (c)	 Only two pairs
	 (d)	 All three pairs
	 41.	 With reference to el Niño-Southern Oscillation 

(ENSO) cycle, consider the following statements:
	 1.	 La Nina occurs less frequently than El Niño.
	 2.	 La Nina may persist longer than El Niño.
	 3.	 Both events peak during winter in the northern 

hemisphere.
		  Which of the above statements are correct?
	 (a)	 1 and 2 only	 (b)	 1 and 3 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3
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	 42.	 Ms;jh {ks=k ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 
dhft;s%

	 1.	 Hkkjr nqX/ mRiknu esa fo'o esa igys LFkku ij 
gS] mlds ckn Øe'k% phu vkSj ;w,l, dk LFkku 
vkrk gSA

	 2.	 Hkkjr ds çFke rhu 'kh"kZ nqX/ mRiknd jkT; Øe'k% 
mÙkj çns'k] eè; çns'k vkSj jktLFkku gSaA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1
	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa
	 (d)	 u rks 1 vkSj u gh 2

	 43.	 ^DykmM lhfMax* ds lanHkZ esa fuEufyf[kr dFkuksa ij 
fopkj dhft;s%

	 1.	 flYoj vk;ksMkbM DykmM lhfMax esa lgk;rk ds 
fy;s la{ksi.k ukfHkd ds :i esa dk;Z djrk gSA

	 2.	 ;g rduhd rHkh dk;Z djrh gS] tc okrkoj.k esa 
igys ls i;kZIr ckny ekStwn gksaA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2

	 44.	 ^ç/kuea=kh eRL; laink ;kstuk (ih,e,e,lokbZ)* ds 
lanHkZ esa fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 ;kstuk ds rgr eNqvkjksa dks chek doj] foÙkh; 
lgk;rk vkSj fdlku ØsfMV dkMZ dh lqfo/k Hkh 
çnku dh tkrh gSA

	 2.	 bldk mn~ns'; xzkeh.k lalk/uksa dk mi;ksx djds 
xzkeh.k fodkl vkSj xzkeh.k vFkZO;oLFkk dks rs”kh 
ls c<+kok nsuk gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2

	 45.	 jcj ds ckxku ds fy;s vuqdwy ifjfLFkfr;ksa ds lanHkZ 
esa fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 rkieku 25&34 fMxzh lsfYl;l ds eè;A
	 2.	 yxHkx 2000&4500 feeh okf"kZd o"kkZ ds lkFk 

m".kdfVca/h; tyok;qA
	 3.	 ySVsjkbV ;k nkseV feV~VhA
	 4.	 lkis{k vkæZrk 80»A

	 	mi;ZqDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1] 2 vkSj 4	 (b)	 dsoy 1] 2 vkSj 3
	 (c)	 dsoy 3 vkSj 4	 (d)	 1] 2] 3 vkSj 4

	 42.	 With reference to the dairy sector, consider the 
following statements:

	 1.	 India ranks first in the world in milk 
production, followed by China and USA 
respectively.	

	 2.	 The top three milk producing states in India 
are Uttar Pradesh, Madhya Pradesh and 
Rajasthan respectively.

		  Which of the above statement(s) is/are correct?
	 (a)	 1 only

	 (b)	 2 only

	 (c)	 Both 1 and 2

	 (d)	 Neither 1 nor 2

	 43.	 Consider the following statement(s) with reference 
to ' Cloud seeding':

	 1.	 Silver iodide acts as a condensation nucleus 
to aid in cloud seeding.

	 2.	 This technique works only when there are 
already enough clouds in the atmosphere.

		  Which of the above statement(s) is/are correct?
	 (a)	 1 only	 (b)	 2 only

	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 44.	 With reference to 'Pradhan Mantri Matsya 
Sampada Yojana (PMMSY)', consider the 
following statements:

	 1.	 Under the scheme, fishermen are also provided 
insurance cover, financial assistance and 
Kisan Credit Card facility.

	 2.	 It aims to rapidly boost rural development and 
rural economy by utilizing rural resources.

		  Which of the above statement(s) is/are correct?
	 (a)	 1 only		  (b) 2 only

	 (c)	 Both 1 and 2		  (d) Neither 1 nor 2

	 45.	 Consider the following statements with reference 
to favourable conditions for rubber plantation:

	 1.	 Temperature between 25-34 °C.

	 2.	 Tropical climate with about 2000–4500 mm 
annual precipitation.

	 3.	 Laterite or loam soil.

	 4.	 Relative humidity 80%.

		  Which of the above statements are correct?
	 (a)	 1, 2 and 4 only	 (b)	 1, 2 and 3 only

	 (c)	 3 and 4 only	 (d)	 1, 2, 3 and 4
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	 46.	 G33 ;k ÚsaM~l vkWiQ Lis'ky çksMDV~l (FoSP) ds lanHkZ 
esa fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 ;g Ñf"k esa fodkl'khy ns'kksa dk xBca/u gSA
	 2.	 ;g xBca/u fodkl'khy ns'kksa ds fy;s Ñf"k ck”kkj 

dks lhfer :i ls [kksyus gsrq yphysiu ij cy 
nsrk gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2

	47.	 fuEufyf[kr esa ls dkSu&lk dFku gky gh esa lekpkjksa 
esa ns[ks x, ̂ tksEch vkbl* 'kCn dk lgh o.kZu djrk gS\

	 (a)	 ciQZ dk ,d cM+k [kaM] tks leqæ esa cg jgk gSA
	 (b)	 ;g ,slh ciQZ gS] tks vHkh Hkh ciQZ ds Xysf'k;jksa ls 

tqM+h gqbZ gS] fdarq vc mu cM+s Xysf'k;jksa ls ciQZ 
çkIr ugha gks jgh gSA

	 (c)	 ;g ,slh ciQZ gS] tks e`r gS vkSj dkyh gks jgh gS 
rFkk cgqr vf/d Å"ek vo'kksf"kr dj jgh gSA

	 (d)	 ;g ,d ,slh ciQZ gS] tks xehZ esa fi?kyrh ugha gS 
vkSj yxkrkj c<+rh gSA

	 48.	 fuEufyf[kr esa ls dkSu&lh lfefr;k¡ xjhch ds ekiu ls 
lacaf/r gSa\

	 1.	 okbZ-ds-vy?k lfefr (1977)
	 2.	 ydM+kokyk lfefr (1989)
	 3.	 lqjs'k rsanqydj lfefr (2005)
	 4.	 lh. jaxjktu lfefr (2012)
	 5.	 vjfoan iuxf<+;k VkLd iQkslZ (2015)
	 6.	 nkeksnj.k lfefr (2011)

	 	uhps fn;s x, dwV dk ç;ksx dj lgh mÙkj pqfu;s%
	 (a)	 dsoy 2] 3 vkSj 6
	 (b)	 dsoy 1] 4 vkSj 5
	 (c)	 dsoy 1] 2] 3] 4 vkSj 5
	 (d)	 1] 2] 3] 4 vkSj 6

	 49.	 Hkkjrh; foKku çkS|ksfxdh vkSj bathfu;fjax lqfo/kvksa ds 
ekufp=k (I-STEM) ds lanHkZ esa fuEufyf[kr dFkuksa ij 
fopkj dhft;s%

	 1.	 ;g vuqla/ku ,oa fodkl lqfo/kvksa dks lk>k djus 
ds fy;s ,d jk"Vªh; osc iksVZy gSA

	 2.	 ;g ç/ku oSKkfud lykgdkj ds dk;kZy; dh ,d 
igy gSA

	 3.	 bldk mn~ns'; Lons'kh :i ls çkS|ksfxfd;ksa vkSj 
oSKkfud midj.kksa ds fodkl dks c<+kok nsuk gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&ls lgh gSa\
	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 1 vkSj 3
	 (c)	 dsoy 2 vkSj 3	 (d)	 1] 2 vkSj 3

	 46.	 With reference to G33 or Friends of Special 
Products (FoSP), consider the following statements:

	 1.	 It is a coalition of developing countries in 
agriculture.

	 2.	 The alliance emphasises flexibility to open up 
agricultural markets to developing countries 
in a limited manner.

		  Which of the above statement(s) is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 47.	 Which of the following statement correctly 

describes the term 'Zombie Ice' recently seen in 
the news?

	 (a)	 A large section of ice, flowing into the sea.
	 (b)	 It is ice that is still associated with ice glaciers, 

but now ice is not being obtained from those 
big glaciers.

	 (c)	 It is ice that is dead and turning black and 
absorbing a lot of heat.

	 (d)	 It is an ice that does not melt in the heat and 
grows continuously.

	 48.	 Which of the following committees deals with 
measurement of poverty?

	 1.	 Y. K. Alagh Committee (1977)
	 2.	 Lakdawala Committee (1989)
	 3.	 Suresh Tendulkar Committee (2005)
	 4.	 C. Rangarajan Committee (2012)
	 5.	 Arvind Panagariya Task Force (2015)
	 6.	 Damodaran Committee (2011)
		  Select the correct answer using the code given 

below:
	 (a)	 2, 3 and 6 only
	 (b)	 1, 4 and 5 only
	 (c)	 1, 2, 3, 4 and 5 only
	 (d)	 1, 2, 3, 4 and 6
	 49.	 With reference to the Map of Indian Science 

Technology and Engineering Facilities (I-STEM), 
consider the following statements:

	 1.	 It is a national web portal for sharing R&D 
facilities.

	 2.	 It is an initiative of the Office of the Principal 
Scientific Advisor.

	 3.	 It aims to promote the development of 
technologies and scientific instruments 
indigenously.

		  Which of the above statements are correct?
	 (a)	 1 and 2 only	 (b)	 1 and 3 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3
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	 50.	 fuEufyf[kr ;qXeksa ij fopkj dhft;s%
	 	 tutkfr		  jkT;
	 1.	 gV~Vh tutkfr	 &	 fgekpy çns'k 
	 2.	 csV~Vk&dq#ck	 &	 vka/z çns'k
	 3.	 fcaf>;k	 &	 NÙkhlx<+
	 4.	 ukfjdksjkou vkSj dqjhfoDdju	 &	 rfeyukMq

	 	mi;ZqDr ;qXeksa esa ls fdrus lgh lqesfyr gSa\
	 (a)	 dsoy ,d ;qXe	 (b)	 dsoy nks ;qXe
	 (c)	 dsoy rhu ;qXe	 (d)	 lHkh pkjksa ;qXe

	 51.	 vkWijs'ku es?k pØ fdlls lacaf/r gS\
	 (a)	 cky ;kSu'kks"k.k lkexzh ds çlkj ls fuiVus ds fy;s 

lhchvkbZ dh ,d eqfgeA
	 (b)	 mÙkj&iwohZ jkT;ksa esa mxzoknh laxBuksa ds f[kykiQ 

,d eqfgeA
	 (c)	 o"kkZ dh deh okys {ks=kksa esa DykmM chtu ds }kjk 

o"kkZ djkus ds fy;s ,d eqfgeA
	 (d)	 Hkkjr esa MkVk ds LFkkuh;dj.k ds fy;s cukbZ xbZ 

,d ;kstukA

	 52.	 ^vk'oklu vfHk;ku* ds lanHkZ esa fuEufyf[kr dFkuksa 
ij fopkj dhft;s%

	 1.	 ;g tutkrh; Vhch igy ds varxZr tutkrh; 
f”kyksa esa Vhch ds lfØ; ekeyksa dk irk yxkus 
ds fy;s 'kq: dh xbZA

	 2.	 bldh 'kq#vkr tuojh 2022 esa egkjk"Vª ds uanqckj 
f”kys ls dh xbZA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2

	 53.	 v"Vç/ku ds lanHkZ esa fuEufyf[kr ;qXeksa ij fopkj 
dhft;s%

	 	 in		  dk;Z
	 1.	 vekR;	 &	 foÙk ea=kh
	 2.	 'kq:aohl	 &	 vkarfjd ekeyksa dk ea=kh
	 3.	 okfd;k&uohl	 &	 'kkgh vkns'k rS;kj djuk
	 4.	 lqear	 &	 fons'k ea=kh

	 	mi;ZqDr ;qXeksa esa ls dkSu&ls lgh lqesfyr gSa\
	 (a)	 1 vkSj 2	 (b)	 2 vkSj 3
	 (c)	 3 vkSj 4	 (d)	 1 vkSj 4

	54.	 dkUgksth vkaxzs ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 
dhft;s%

	 1.	 bUgksaus o"kZ 1699 esa ejkBk csM+s ds lj[ksy ds :i 
esa in laHkkykA

	 2.	 bUgsa vaxzs”kksa] iqrZxkyh vkSj Mp ukSlSfud cyksa ds 
f[kykiQ viuh idM+ cukus dk Js; fn;k tkrk gSA

	 50.	 Consider the following pairs:
		  Tribe		  State
	 1.	 Hatti tribe	 –	  Himachal Pradesh 
	 2.	 Betta Kurumba	 –	 Andhra Pradesh
	 3.	 Bin Jia	 –	 Chhattisgarh
	 4.	 Narikoravan and	 –	 Tamil Nadu	

	Kuruvikaran
		  How many of the above pairs are correctly 

matched?
	 (a)	 Only one pair	  (b)	 Only two pairs
	 (c)	 Only three pairs	 (d)	 All four pairs
	 51.	  Operation Megh Chakra is related to?
	 (a)	 A CBI campaign to deal with the spread of 

child sexual abuse material.
	 (b)	 A campaign against militant outfits in north-

eastern states.
	 (c)	 A campaign to bring rainfall through cloud 

seeding in rain deficient areas.
	 (d)	 A scheme for localization of data in India.
	 52.	 Consider the following statements with reference 

to 'Assurance Campaign':
	 1.	 It was launched to detect active cases of TB 

in tribal districts under tribal TB initiative.
	 2.	 It was started in January 2022 from Nandubar 

district of Maharashtra.
		  Which of the above statement(s) is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 53.	 Consider the following pairs with respect to 

Ashtapradhan:
		  Designation		  Work
	 1.	 Amatya	 –	 Finance Minister
	 2.	 Shurunavish	 –	 Minister of Internal 
	 	 		 	 Affairs
	 3.	 Wakia-Navis	 –	 Preparing the  

			  Royal Order
	 4.	 Sumant	 –	 Foreign Minister 
		  Which of the above pairs are correctly matched?
	 (a)	 1 and 2 only	 (b)	 2 and 3 only
	 (c)	 3 and 4 only	 (d)	 1 and 4 only
	 54.	 Consider the following statements with respect to 

Kanhoji Angre:
		  1.He took over as the head of the Maratha 

fleet in the year 1699.
	 2.	 They are credited with holding their own 

against the British, Portuguese and Dutch 
naval forces.
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	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2

	 55.	 uVjkt dh ewfrZ ds lanHkZ esa fuEufyf[kr ;qXeksa ij fopkj 
dhft;s%

	 	 eqæk		 çrhd
	 1.	 Åijh nkfgus gkFk esa	 &	l`tu ds ukn dk 

Me:	 	çrhd
	 2.	 Åijh ck,¡ gkFk	 &	fouk'k dk çrhd	

esa 'kk'or vfXu
	 3.	 fupyk nkfguk gkFk	 &	vk'khokZn dk çrhd	

vHk; eqæk eas
	 4.	 fupyk ck;k¡ gkFk	 &	eks{k dk çrhd	

Åij mBk

	 	mi;ZqDr ;qXeksa esa ls fdrus lgh lqesfyr gSa\

	 (a)	 dsoy ,d ;qXe	 (b)	 dsoy nks ;qXe
	 (c)	 dsoy rhu ;qXe	 (d)	 lHkh pkjksa ;qXe

	56.	 bjksM osadVIik jkeklkeh isfj;kj ds lanHkZ esa fuEufyf[kr 
dFkuksa ij fopkj dhft;s%

	 1.	 bUgksaus vkRe&lEeku vkanksyu vkSj æfoM+ dtxe 
dh 'kq#vkr dh FkhA

	 2.	 bUgksaus rfeyukMq esa czkã.koknh çHkqRo vkSj ySafxd 
o tkfrxr vlekurk ds f[kykiQ foæksg fd;kA

	 3.	 bUgksaus ok;dkse lR;kxzg dk usr`Ro fd;kA
	 4.	 17 flracj dks budh t;arh dks lkekftd U;k; 

fnol ds :i esa euk;k tkrk gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1] 2 vkSj 4	 (b)	 dsoy 1] 2 vkSj 3
	 (c)	 dsoy 3 vkSj 4	 (d)	 1] 2] 3 vkSj 4

	 57.	 iqyh Fksoj ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 
dhft;s%

	 1.	 ;s ,d rfey ;ks¼k vkSj if'peh iksfyxkjkas ds 
usrk FksA

	 2.	 bUgksaus gSnjkckn ds uokc ds f[kykiQ foæksg fd;k 
FkkA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2

	58.	 fuEufyf[kr ;qXeksa ij fopkj dhft;s%

	 	 yksd laxhr ijaijk		 lacaf/r {ks=k@jkT;
	 1.	 vksXxqdFkk	 &	dUuM+Hkk"kh {ks=k
	 2.	 iksokM+k xk;u	 &	dsjy
	 3.	 Mk<h xk;u	 &	jktLFkku

		  Which of the above statement(s) is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 55.	 Consider the following pairs with reference to 

Nataraja idol:
		  Posture		  Symbol
	 1.	 Damru in the	 –	  Symbol of the 

upper right hand		  sound of creation
	 2.	 Eternal fire in	 –	 Symbol of  

upper left hand		  destruction
	 3.	 Lower right hand	 –	 Symbol of  

in adorable posture		 blessingin the
	 4.	 Raised up lower	 –	 The symbol of  

	left hand		  salvation
		  How many of the above pairs are correctly 

matched?
	 (a)	 Only one pair	 (b)	 Only two pairs
	 (c)	 Only three pairs	 (d)	 All four pairs
	 56.	 With reference to Erode Venkatappa Ramasamy 

Periyar, consider the following statements:
	 1.	 He started the self-respect movement and the 

Dravidar Kazhagam.
	 2.	 They revolted against Brahmanical dominance 

and gender and caste inequality in Tamil 
Nadu.

	 3.	 He led the Vaikom Satyagraha.
	 4.	 His birth anniversary is celebrated as Social 

Justice Day on September 17:
		  Which of the above statements are correct?
	 (a)	 1, 2 and 4 only	 (b)	 1, 2 and 3 only
	 (c)	 3 and 4 only	 (d)	 1, 2, 3 and 4
	 57.	 Consider the following statements with respect to 

Puli Thevar:
	 1.	 He was a Tamil warrior and leader of western 

Poligares.
	 2.	 He revolted against the Nawab of Hyderabad.
		  Which of the above statement(s) is/are not correct? 
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 58.	 Consider the following pairs:
 	 Folk Music Tradition    Concerned Region/State
	 1.	 Oggukatha 	 -	 �Kannada-speaking 

region
	 2.	 Powada Singing	 -	 Kerala
	 3.	 Beard Singing	 -	 Rajasthan
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	 	mi;ZqDr ;qXeksa esa ls fdrus ;qXe lgh lqesfyr gSa\
	 (a)	 dksbZ Hkh ;qXe ugha
	 (b)	 dsoy ,d ;qXe
	 (c)	 dsoy nks ;qXe
	 (d)	 lHkh rhuksa ;qXe

	59.	 fuEufyf[kr esa ls fdl LFky@fdu LFkyksa dk uke ;wusLdks 
dh fo'o fojklr lwph ls gVk fn;k x;k gS\

	 1.	 vkseku dh vjsfc;u vkWfjDl lSaDpqvjh
	 2.	 baXySaM dk fyojiwy
	 3.	 teZuh ds MªslMsu esa fLFkr ,Ycs oSyh
	 4.	 ikfdLrku fLFkr eksgutksnM+ks

	 	uhps fn;s x, dwV dk ç;ksx dj lgh mÙkj pqfu;s%
	 (a)	 dsoy 1 vkSj 2	 (b)	 1] 2 vkSj 3
	 (c)	 dsoy 3 vkSj 4	 (d)	 dsoy 4

	 60.	 gky gh esa isjsL=kksbdk (Perestroika) 'kCn ppkZ esa Fkk] 
;g fuEufyf[kr esa ls fdlls lacaf/r gS\

	 (a)	 ;g iwoZorhZ lksfo;r la?k esa vkfFkZd vkSj jktuhfrd 
lq/kjksa ls lacaf/r gSA

	 (b)	 ;g :l ds lqijlksfud felkby flLVe dk ,d 
:i gSA

	 (c)	 ;g Hkkjr] phu vkSj :l ds chp lSU; vH;kl gSA
	 (d)	 ;g :l vkSj vesfjdk ds chp ijek.kq gfFk;kjksa 

dks de djus dh ,d laf/ gSA

	 61.	 M~oksjd rduhd ds lanHkZ esa fuEufyf[kr dFkuksa ij 
fopkj dhft;s%

	 1.	 ;g m".kdfVca/h; pØokrksa ds fodkl vkSj {k; 
dh vo/kj.kk ekWMy ij vk/kfjr ,d DykmM 
iSVuZ fjdfXu'ku rduhd (CPRT) gSA

	 2.	 bl i¼fr esa èkzqoh; ifjØek djus okys mixzgksa 
ls çkIr miyC/ mixzg Nfo;ksa dk mi;ksx 
m".kdfVca/h; pØokr dh fo'ks"krkvksa dh tk¡p 
ds fy;s fd;k tkrk gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2

	 62.	 czw leqnk; ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 
dhft;s%

	 1.	 czw&fj;kax iwokZsÙkj Hkkjr dk ,d LFkkuh; leqnk; 
gS] tks ”;knkrj f=kiqjk vkSj fe”kksje esa jgrk gSA

	 2.	 fe”kksje esa bls fo'ks"k :i ls laosnu'khy tutkrh; 
lewg ds :i esa ekU;rk çkIr gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2

		  How many of the above pairs are correctly 
matched?

	 (a)	 No pair
	 (b)	 Only one pair
	 (c)	 Only two pairs
	 (d)	 All three pairs
	 59.	 Which of the following site/sites has/have been 

removed from unesco's world heritage list? 
	 1.	 Arabian Orix Sanctuary of Oman
	 2.	 Liverpool of England
	 3.	 Elbe Valley in Dresden, Germany
	 4.	 Mohenjo Daro in Pakistan
		  Select the correct answer using the code given 

below:
	 (a)	 1 and 2 only	 (b)	 1, 2 and 3
	 (c)	 3 and 4 only	 (d)	 4 only
	 60.	 Recently the term perestroika was in the news, it 

is related to which of the following? 
	 (a)	 It deals with economic and political reforms 

in the erstwhile Soviet Union.
	 (b)	 It is a form of Russia's supersonic missile 

system.
	 (c)	 It is a military exercise between India, China 

and Russia.
	 (d)	 It is a treaty between Russia and the United 

States to reduce nuclear weapons.
	 61.	  Consider the following statements with reference 

to Dvorak technique:
	 1.	 It is a Cloud Pattern Recognition Technique 

(CPRT) based on the concept model of growth 
and decay of tropical cyclones.

	 2.	 In this method, available satellite images 
obtained from polar orbiting satellites are 
used to check the characteristics of tropical 
cyclones.

		  Which of the above statement(s) is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 62.	 Consider the following statements with reference 

to Bru community:
	 1.	 The Bru-Reangs are a local community in 

northeast India, mostly living in Tripura and 
Mizoram.

	 2.	 In Mizoram, it is recognised as a particularly 
sensitive tribal group.

		  Which of the above statement(s) is/are correct? 
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
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	63.	 Økbe eYVh ,tsalh lsaVj (Cri-MAC) ds lanHkZ esa 
fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 bls o"kZ 2020 esa x`g ea=kky; }kjk fofHkUu dkuwu 
çorZu ,tsafl;ksa ds lkFk 24×7 vijk/ rFkk vijkf/;ksa 
dh tkudkjh lk>k djus vkSj lwpuk ds fuckZ/ çokg 
dks lqfuf'pr djus ds fy;s ykWUp fd;k x;k FkkA

	 2.	 bls ,uvkbZ, }kjk ladfyr fd;k tkrk gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2

	64.	 vkbZ,u,l rkjkfxfj ds lanHkZ esa fuEufyf[kr dFkuksa ij 
fopkj dhft;s%

	 1.	 bldk fuekZ.k dksphu f'ki;kMZ fyfeVsM }kjk fd;k 
tk jgk gSA

	 2.	 ;g çkstsDV 17A vYiQk fÚxsV~l ds rgr nwljk 
tgk”k gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2

	65.	 rstl ekdZ&2 ds lanHkZ esa fuEufyf[kr dFkuksa ij 
fopkj dhft;s%

	 1.	 ;g Mcy batu ;qDr] cgq Hkwfedk okyk lqijlksfud 
yM+kdw tsV gSA

	 2.	 bls MhvkjMhvks vkSj HAL ds rgr oSekfudh 
fodkl ,tsalh }kjk fM”kkbu fd;k x;k gSA

	 3.	 bls 4.5 & ih<+h dh e'khu ds :i esa of.k±r fd;k 
x;k gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 2 vkSj 3	 (b)	 dsoy 1
	 (c)	 1 vkSj 2	 (d)	 dsoy 3

	 66.	 fuEufyf[kr esa ls dkSu&lk ns'k dkdkMw lSU; vH;kl 
vk;ksftr djrk gS\

	 (a)	 vesfjdk	 (b)	 vkWLVªsfy;k
	 (c)	 :l	 (d)	 baMksusf'k;k

	67.	 lkbcj lqj{kk vH;kl ^fluthZ* ds lanHkZ esa fuEufyf[kr 
dFkuksa ij fopkj dhft;s%

	 1.	 ;g la;qDr jk"Vª }kjk lapkfyr fd;k x;k gSA
	 2.	 Hkkjr dh vksj ls dsoy CERT-In us bl vH;kl 

esa Hkkx fy;k gSA
	 3.	 ;g jSuleos;j vkSj tcju olwyh ds mn~ns'; ls 

fd;s x, lkbcj geyksa ds f[kykiQ lqn`<+ usVodZ 
cukus gsrq lnL; ns'kksa ds chp fofHkUu j.kuhfr;ksa 
,oa dk;Zç.kkfy;ksa dk vkdyu o vknku&çnku 
djrk gSA

	 63.	 With reference to Crime Multi Agency Centre 
(Cri-MAC), consider the following statements:

	 1.	 It was launched by the Ministry of Home 
Affairs in 2020 with various law enforcement 
agencies to share information on 24×7 crime 
and criminals and ensure seamless flow of 
information.

	 2.	 It is compiled by the NIA.
		  Which of the above statement(s) is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 64.	 Consider the following statements with respect to 

INS Taragiri:
	 1.	 It is being constructed by Cochin Shipyard 

Limited.
	 2.	 This project is the second ship under the 17A 

Alpha frigates.
		  Which of the above statement(s) is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 65.	 Consider the following statements with respect to 

Tejas Mark-II:
	 1.	 It is a double engine, multi-role supersonic 

fighter jet.
	 2.	 It has been designed by aeronautical 

development agency under DRDO and HAL.
	 3.	 It is characterized as a 4.5 - generation 

machine.
		  Which of the above statement(s) is/are correct?
	  (a)	 2 and 3  only	 (b)	 1 only
	 (c)	 1 and 2 only	 (d)	 3 only
	 66.	 Which of the following countries conducts Kakadu 

military exercise?
	 (a)	 America	  (b)	 Australia
	 (c)	 Russia	 (d)	 Indonesia
	 67.	 Consider the following statements with reference 

to cyber security exercise 'Synergy':
	 1.	 It is operated by the United Nations.
	 2.	 Only CERT-In from India has participated in 

the exercise.
	 3.	 It assesses and exchanges various strategies 

and methodologies among member countries 
to build a robust network against ransomware 
and cyber attacks aimed at extortion.
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	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 2 vkSj 3	 (b)	 dsoy 1
	 (c)	 1 vkSj 2	 (d)	 dsoy 3

	68.	 ySosaMj ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 
dhft;s%

	 1.	 cSaxuh Økafr dk laca/ ySosaMj dh [ksrh ls gSA
	 2.	 iwQyksa ls vklou ds ckn cuus okys gkbMªkslksy dk 

mi;ksx vxjcÙkh cukus ds fy;s fd;k tkrk gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2

	 69.	 vuqlwfpr tutkfr;ks a (ST) ds fy;s laoS/kfud 
çkoèkkuksa  ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 
dhft;s%

	 1.	 vuqPNsn 330 jkT;k s a dh fo/kulHkkvks a es a 
vuqlwfpr tutkfr;ksa ds fy;s lhVksa ds vkj{k.k 
dk çko/ku djrk gSA

	 2.	 vuqPNsn 332 yksdlHkk esa vuqlwfpr tutkfr;ksa 
ds fy;s lhVksa ds vkj{k.k dk çko/ku djrk gSA

	 3.	 vuqPNsn 338 esa vuqlwfpr tkfr;ksa ds fy;s jk"Vªh; 
vk;ksx ds xBu dk çko/ku gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 1 vkSj 2	 (b)	 dsoy 1
	 (c)	 1 vkSj 3	 (d)	 dsoy 3

	70.	 fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 jk"Vªh; vuqlwfpr tutkfr foÙk vkSj fodkl fuxe 

(NSTFDC) vuqlwfpr tutkfr;ksa dks vk; l`tu 
xfrfof/;ksa ds fy;s fj;k;rh njksa ij foÙkh; lgk;rk 
çnku djrk gSA

	 2.	 vkfnoklh efgyk l'kfDrdj.k ;kstuk (AMSY) 
ik=k vuqlwfpr tutkfr efgykvksa ds vkfFkZd 
fodkl ds fy;s ,d fo'ks"k fj;k;rh ;kstuk gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2

	71.	 vxfj;k tutkfr ds lanHkZ esa fuEufyf[kr dFkuksa ij 
fopkj dhft;s%

	 1.	 foeqDr ?kqeDdM+ tutkfr dk ;g leqnk; eè; 
çns'k] mÙkj çns'k vkSj NÙkhlx<+ ds mÙkjh fgLls 
esa ik;k tkrk gSA

	 2.	 bldk bfrgkl /krqdeZ ds bfrgkl ls tqM+k gqvk gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2

		  Which of the above statement(s) is/are correct?
	 (a)	 2 and 3	 (b)	 1 only
	 (c)	 1 and 2	 (d)	 3 only
	 68.	 Consider the following statements with respect to 

lavender:
	 1.	 The Purple Revolution is concerned with 

lavender cultivation.
	 2.	 Hydrosol formed after distillation from pools 

is used to make incense sticks.
		  Which of the above statement(s) is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 69.	 With reference to constitutional provisions for 

Scheduled Tribes (STs), consider the following 
statements:

	 1.	 Article 330 provides for reservation of seats 
for Scheduled Tribes in state assemblies.

	 2.	 Article 332 provides for reservation of seats 
for Scheduled Tribes in the Lok Sabha.

	 3.	 Article 338 provides for the constitution of a 
National Commission for Scheduled Castes.

		  Which of the above statement(s) is/are correct?
	 (a)	 1 and 2 only 	 (b)	 1 only
	 (c)	 1 and 3 only	 (d)	 3 only
	 70.	 Consider the following statements:
	 1.	 The National Scheduled Tribes Finance 

and Development Corporation (NSTFDC) 
provides financial assistance to Scheduled 
Tribes at concessional rates for income 
generation activities.

	 2.	 Tribal Women Empowerment Scheme 
(AMSY) is a special concession scheme 
for the economic development of eligible 
Scheduled Tribe women.

		  Which of the above statement(s) is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)		 Both 1 and 2	 (d)	 Neither 1 nor 2
	 71.	 Consider the following statements with respect to 

Agaria tribe:
	 1.	 This community of denotified nomadic tribe is 

found in the northern part of Madhya Pradesh, 
Uttar Pradesh and Chhattisgarh.

	 2.	 Its history is associated with the history of 
metallurgy.

		  Which of the above statement(s) is/are correct? 
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
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	72.	 fuEufyf[kr ;qXeksa ij fopkj dhft;s%
	 	 R;ksgkj@ioZ		  {ks=k
	 1.	 U;ksdqae ;wYyksa	 &	 v#.kkpy çns'k dh U;klh 
	 	 		 	 tutkfr
	 2.	 cSxklq ioZ	 &	 vle dh cksMks tutkfr
	 3.	 ukaxØse mRlo	 &	 es?kky; dh [kklh tutkfr

	 	mi;ZqDr ;qXeksa esa ls fdrus ;qXe lgh lqesfyr gSa\
	 (a)	 dksbZ Hkh ;qXe ugha	 (b)	 dsoy ,d ;qXe
	 (c)	 dsoy nks ;qXe	 (d)	 lHkh rhuksa ;qXe

	73.	 fuEufyf[kr ;qXeksa ij fopkj dhft;s%
	 	 esyk		  {ks=k
	 1.	 leDdk&ljyEek&tkrjk esyk	 &	 rsyaxkuk
	 2.	 ekjhnEek dk esyk	 &	 vka/z çns'k
	 3.	 cs.ks'oj esyk	 &	 jktLFkku
	 4.	 Hkxksfj;k esyk	 &	 >kj[kaM

	 	mi;ZqDr ;qXeksa esa ls fdrus lgh lqesfyr gSa\
	 (a)	 dsoy ,d ;qXe	 (b)	 dsoy nks ;qXe
	 (c)	 dsoy rhu ;qXe	 (d)	 lHkh pkjksa ;qXe

	74.	 fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 mÙkj çns'k dk igyk vkfnoklh laxzgky; cyjkeiqj 

f”kys esa ̂ Fkk: tkfr laxzgky;* LFkkfir fd;k x;kA
	 2.	 Fkk: tutkfr nhikoyh dks 'kksd fnol ds :i esa 

eukrh gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2

	 75.	 isVsaV ckWDl O;oLFkk ds lanHkZ esa fuEufyf[kr dFkuksa ij 
fopkj dhft;s%

	 1.	 ;g ,d csgrj ckSf¼d laink O;oLFkk gS] ftlds 
rgr ckSf¼d laink ls gksus okys jktLo ij cgqr 
vf/d dj yxk;k tkrk gSA

	 2.	 Hkkjr esa ;g O;oLFkk 2016 esa ykxw dh xbZ FkhA
	 3.	 cgqjk"Vªh; daifu;ksa }kjk bldk mi;ksx ykHk& 

LFkkukarj.k vkSj djksa ls cpus ds fy;s ,d lk/u 
ds :i esa fd;k tkrk gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\
	 (a)	 1 vkSj 2	 (b)	 dsoy 1
	 (c)	 1 vkSj 3	 (d)	 dsoy 3

	76.	 fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 uoacj 1947 esa vgenkckn esa HkkSfrd vuqla/ku 

ç;ksx'kkyk dh LFkkiuk dh xbZ FkhA
	 2.	 1969 esa Hkkjrh; varfj{k vuqla/ku laxBu dh 

LFkkiuk dh xbZ] ftlus bUdksLikj ds y{;ksa dks 
iwjk fd;kA

	 72.	 Consider the following pairs:
		  Festivals 		  Region
	 1.	 Nyokum Yullo	 -	� Nyishi Tribes of 	

Arunachal Pradesh
	 2.	 Baigasu Festival	 -	� Bodo tribe of Assam
	 3.	 Nangkrem Festival	 -	� K h a s i  t r i b e  o f 

Meghalaya
		  How many of the above pairs are correctly 

matched?
	 (a)	 No pair	 (b)	 Only one pair
	 (c)	 Only two pairs 	 (d)	 All three pairs
	 73.	 Consider the following pairs:
		  Fair		  Region
	 1. 	 Samakka-Sarlamma	 –	 Telangana
			  Jatra Fair		
	 2.	 Maridamma Fair	  –	 Andhra Pradesh
	 3.	 Baneshwar Fair	 –	 Rajasthan
	 4.	 Bhagoria Fair	 –	 Jharkhand
		  How many of the above pairs are correctly 

matched?
	 (a)	 Only one pair	 (b)	 Only two pairs
	 (c)	 Only three pairs 	 (d)	 All four pairs
	 74.	 Consider the following statements:
	 1	 The first tribal museum 'Tharutribe museum' 

of Uttar Pradesh was established in Balrampur 
district.

	 2.	 The Tharu tribe celebrates Deepawali as a day 
of mourning.

		  Which of the above statement(s) is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 75.	 Consider the following statements with reference 

to patent box arrangement:
	 1.	 It is a better intellectual property regime, 

under which revenue from intellectual 
property is taxed much higher.

	 2.	 This system was implemented in India in 
2016.

	 3.	 It is used by multinational companies as a 
means to avoid profit-transfer and taxes.

		  Which of the above statements is/are not/are 
correct?

	 (a)	 1 and 2	 (b)	 1 only
	 (c)	 1 and 3	 (d)	 3 only
	 76.	 Consider the following statements:
	 1.	 The Physical Research Laboratory was 

established in Ahmedabad in November 1947.
	 2.	 The Indian Space Research Organisation was 

established in 1969, which met the goals of 
INCOSPAR.
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	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1
	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa
	 (d)	 u rks 1 vkSj u gh 2

	77.	 fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 Hkkjr dk 90 çfr'kr ikuh Ñf"k ds fy;s mi;ksx 

gksrk gSA

	 2.	 xsgw¡ vkSj xUuk ikuh dh de [kir okyh iQlysa gaSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2

	78.	 ekuo fodkl lwpdkad 2021&22 ds lanHkZ es a 

fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 bl fjiksVZ dk 'kh"kZd ^vfuf'pr le;] vfLFkj 

f”kanfx;k¡ cnyrh nqfu;k es a viuk Hkfo"; 

fuekZ.k* gSA

	 2.	 bl fjiksVZ ds vuqlkj 191 ns'kksa esa Hkkjr dk 

131ok¡  LFkku jgk] tcfd fiNys o"kZ Hkkjr dk 

LFkku 132ok¡ FkkA
	 3.	 bl fjiksVZ esa fLoV~”kjySaM igys LFkku ij gSA

	 	mi;ZqDr esa ls dkSu&ls dFku lgh gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 1 vkSj 3
	 (c)	 dsoy 2 vkSj 3	 (d)	 1] 2 vkSj 3

	79.	 fuEufyf[kr ;qXeksa ij fopkj dhft;s%

	 	 fjiksVZ		  tkjhdÙkkZ

	 1.	 vk/qfud nklrk ij	 &	 varjkZ"Vªh; Je	

oSf'od vuqeku fjiksVZ	 	 laxBu

	 2.	 bafM;k fMfLØfeus'ku fjiksVZ	&	 vkWDliQse bafM;k

	 3.	 ekuo fodkl lwpdkad	 &	 ;w,uMhih

	 	mi;ZqDr ;qXeksa esa ls fdrus ;qXe lgh lqesfyr gSa\

	 (a)	 dksbZ Hkh ;qXe ugha	 (b)	 dsoy ,d ;qXe

	 (c)	 dsoy nks ;qXe	 (d)	 lHkh rhuksa ;qXe

	80.	 fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 	 vHk;kj.;		  vofLFkfr

	 1.	 pkaxFkkax oU;tho vHk;kj.;	 &	 flfDde

	 2.	 dwuks oU;tho vHk;kj.;	 &	 eè; çns'k

	 3.	 onqoqj i{kh vHk;kj.;	 &	 dsjy

	 	mi;ZqDr ;qXeksa esa ls fdrus ;qXe lgh lqesfyr gSa\

	 (a)	 dksbZ Hkh ;qXe ugha	 (b)	 dsoy ,d ;qXe

	 (c)	 dsoy nks ;qXe	 (d)	 lHkh rhuksa ;qXe

		  Which of the above statement(s) is/are correct?
	 (a)	 1 only
	 (b)	 2 only
	 (c)	 Both 1 and 2
	 (d)	 Neither 1 nor 2
	 77.	 Consider the following statements:
	 1.	 90 percent of India's water is used for 

agriculture.
	 2.	 Wheat and sugarcane are low water consuming 

crops.
		  Which of the above statement(s) is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 78.	 Consider the following statements with reference 

to the Human Development Index 2021-22:
	 1.	 The report is titled 'Uncertain Times, Unstable 

Lives Building Your Future in a Changing 
World'.

	 2.	 According to this report, India was ranked 
131st out of 191 countries, while last year 
India's position was 132nd.

	 3.	 Switzerland ranks first in this report.
		  Which of the above statements are correct?
	 (a)	 1 and 2 only	 (b)	 1 and 3 only
	 (c)	 2 and 3 only	  (d)	 1, 2 and 3
	 79.	 Consider the following pairs:
		  Report		  Issuer 
	 1.	 Global Estimates	 –	 International
		  Report on Modern 		  Labour  

Slavery		  Organization
	 2.	 India Discrimination 	–	 Oxfam India
			  Report		
	 3.	 Human Development 	–	 UNDP	

	Index	
		  How many of the above pairs are correctly 

matched?
	 (a)	 No pair 	 (b)	 Only one pair
	 (c)	 Only two pairs 	 (d)	 All three pairs
	 80.	 Consider the following statements:
		  Sanctuary		   Location
	 1.	 Changthang 	 –	 Sikkim
		  Wildlife Sanctuary
	 2.	 Kuno Wildlife	 –	 Madhya Pradesh 

Sanctuary
	 3.	 Vaduvur Bird	 –	 Kerala	

	Sanctuary
		  How many of the above pairs are correctly 

matched?
	 (a)	 No pair 	 (b)	 Only one pair
	 (c)	 Only two pairs 	 (d)	 All three pairs
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	81.	 fuEufyf[kr ;qXeksa ij fopkj dhft;s%

	 	 ns'k		�  gky gh esa lekpkjksa esa gksus 

dk egÙoiw.kZ dkj.k

	 1.	 ukehfc;k	 &	 vkB phrksa dk Hkkjr esa LFkkukarj.k

	 2.	 ijkXos	 &	 �egkRek xka/h dh çfrek dk 

vukoj.k

	 3.	 d”kk[kLrku	&	 �bldh jkt/kuh dk uke uwj&bLyke 

ls vLrkuk djus ij lgefr

	 	mi;ZqDr ;qXeksa esa ls fdrus ;qXe lgh lqesfyr gSa\

	 (a)	 dksbZ Hkh ;qXe ugha	 (b)	 dsoy ,d ;qXe

	 (c)	 dsoy nks ;qXe	 (d)	 lHkh rhuksa ;qXe

	82.	 fuEufyf[kr ;qXeksa ij fopkj dhft;s%

	 	 >hy		 vofLFkr

	 1.	 ekulcy >hy	 &	yn~nk[k

	 2.	 rEikjk >hy	 &	vksfM'kk

	 3.	 valqik >hy	 &	jktLFkku

	 	mi;ZqDr ;qXeksa esa ls fdrus ;qXe lgh lqesfyr gSa\

	 (a)	 dksbZ Hkh ;qXe ugha	 (b)	 dsoy ,d ;qXe

	 (c)	 dsoy nks ;qXe	 (d)	 lHkh rhuksa ;qXe

	83.	 fuEufyf[kr ns'kksa ij fopkj dhft;s%

	 1.	 is:	 2.	 cksyhfo;k
	 3.	 czk”khy	 4.	 bDokMksj
	 5.	 vtZsaVhuk

	 	mi;ZqDr esa ls fdudh lhek,¡ fpyh ds lkFk yxrh gSa\

	 (a)	 dsoy 1] 2 vkSj 5
	 (b)	 dsoy 1] 3 vkSj 4
	 (c)	 dsoy 2] 3] 4 vkSj 5
	 (d)	 1] 2] 3] 4 vkSj 5

	84.	 lSa/o okLrqdyk ds lanHkZ esa fuEufyf[kr dFkuksa ij 

fopkj dhft;s%

	 1.	 gM+Iik lH;rk ds uxjksa esa dgha Hkh eafnj dk Li"V 

çek.k ugha feyk gSA

	 2.	 gM+Iik dky ds Hkouksa esa dsoy idh vkSj fuf'pr 

vkdkj dh b±Vksa dk ç;ksx gksrk FkkA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2

	 85.	 Lrwi ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 Lrwi ds 'kh"kZ ij gfeZdk uked lajpuk gksrh gS]

tgk¡ egkRek cq¼ ;k muds fdlh f'k"; ds vo'ks"k 

j[ks tkrs gSaA

	 81.	 Consider the following pairs:
		  Country		�  Important reason 

to be in the news 
recently

	 1.	 Namibia	 –	� Transfer of eight 
cheetahs to India

	 2.	 Paraguay	 –	� Mahatma Gandhi's 
statue unveiled

	 3.	 Kazakhstan	 –	� Agreed to rename its 
capital from Noor-
Islam to Astana

		  How many of the above pairs are correctly 
matched?

	 (a)	 No pair 	 (b)	 Only one pair
	 (c)	 Only two pairs 	 (d)	 All three pairs
	 82.	 Consider the following pairs:
		  Lake		  Location
	 1.	 Manasbal Lake	 –	 Ladakh
	 2.	 Tampara Lake	 –	 Odisha
	 3.	 Lake Ansupa	 –	 Rajasthan
		  How many of the above pairs are correctly 

matched?
	 (a)	  No pair  	 (b)	 Only one pair
	 (c)	 Only two pairs 	 (d)	 All three pairs
	 83.	 Consider the following countries:
	 1.	 Peru	 2.	 Bolivia
	 3.	 Brazil	 4.	 Ecuador
	 5.	 Argentina
		  Which of the above shares its borders with Chile?
	 (a)	 1, 2 and 5 only
	 (b)	 1, 3 and 4 only
	 (c)	 2, 3, 4 and 5 only
	 (d)	 1, 2, 3, 4 and 5		
	 84. 	Consider the following statement(s) with reference 

to Sandhav architecture:
	 1.	 There is no clear evidence of a temple anywhere 

in the cities of Harappan civilization.
	 2.	 In the Harappan period buildings, only baked 

and fixed-sized bricks were used.
		  Which of the above statement(s) is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2 	 (d)	 Neither 1 nor 2
	 85.	 With reference to Stupa, consider the following 

statements:
	 1.	 At the top of the stupa is a structure called 

Harmika, where the remains of Mahatma 
Buddha or any of his disciples are kept.
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	 2.	 gfeZdk ds eè; esa ,d naM yxk gksrk gS] ftlds 
'kh"kZ ij yxs rhu N=k lEeku] J¼k ,oa mnkjrk 
ds çrhd gSaA

	 3.	 ekS;kZsÙkj dky esa Lrwiksa esa vyadj.k dk ç;ksx gksus 
yxk FkkA

	 	mi;ZqDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 1 vkSj 3
	 (c)	 dsoy 2 vkSj 3	 (d)	 1] 2 vkSj 3

	86.	 fuEufyf[kr ;qXeksa ij fopkj dhft;s%

	 	 Lrwi		 dky[kaM
	 1.	 vejkorh Lrwi	 &	lkrokgu dky
	 2.	 r{kf'kyk dh /eZjkftdk	&	ekS;Z dky	

 osfndk
	 3.	 /es[k Lrwi	 &	xqIr dky

	 	mi;ZqDr ;qXeksa esa ls dkSu&lk@ls lgh lqesfyr gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2 vkSj 3
	 (c)	 dsoy 1 vkSj 3	 (d)	 1] 2 vkSj 3

	87.	 fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 ukxj 'kSyh esa vf/"Bku vko';d rÙo Fkk] tcfd 
æfoM+ 'kSyh esa vko';d ugha FkkA

	 2.	 ukxj 'kSyh esa js[kh; f'k[kj gksrk Fkk] ftlds 'kh"kZ 
ij vkeyd gksrk Fkk] ogha æfoM+ 'kSyh esa f'k[kj 
fijkfeMh; gksrk Fkk vkSj blds 'kh"kZ ij Lrwfidk 
gksrh FkhA

	 3.	 xksiqje vkSj ijdksVk æfoM+ 'kSyh esa ik, tkrs gSaA
	 4.	 xHkZx`g ukxj vkSj æfoM+] nksuksa 'kSfy;ksa esa ik;k tkrk 

gS vkSj ;g nksuksa 'kSfy;ksa esa vk;rkdkj gksrk gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1] 2 vkSj 4
	 (b)	 dsoy 1] 2 vkSj 3
	 (c)	 dsoy 3 vkSj 4
	 (d)	 1] 2] 3 vkSj 4

	88.	 gks;ly dkyhu eafnj ds lanHkZ esa fuEufyf[kr dFkuksa 
ij fopkj dhft;sA

	 1.	 gks;ly eafnj cslj 'kSyh ds varxZr vkrs gSaA
	 2.	 gks;ly dkyhu eafnj dk fuekZ.k lksiLVksu] xzsukbV] 

flLV iRFkj ,oa ydM+h tSls inkFkks± dk mi;ksx 
djds fd;k x;k gSA

	 3.	 bu eafnjksa dk vk/kj rkjs ds vkdkj dk gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 1 vkSj 3
	 (c)	 dsoy 2 vkSj 3	 (d)	 1] 2 vkSj 3

	 2.	 There is a punishment in the middle of the 
harmika, on top of which the three umbrellas 
are symbols of respect, reverence and 
generosity.

	 3.	 In the post-Mauryan period, ornamentation 
was used in stupas.

		  Which of the above statements are correct?
	 (a)	 1 and 2 only	 (b)	 1 and 3 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3
	 86.	 Consider the following pairs:
		  Stupa		  Periods
	 1.	 Amaravati Stupa	 –	 Satavahana period
	 2.	 Dharmarajika 	 –	 Mauryan Period  

Terrace of Taxila 	 	
	 3.	 Dhamekh Stupa	 –	 Gupta Periods
		  Which of the above pair(s) is/are correctly 

matched?
	 (a)	 1 only	 (b)	 2 and 3 only
	 (c)	 1 and 3 only	 (d)	 1, 2 and 3
	 87.	 Consider the following statements:
	 1.	 Adhishthana was an essential element in the 

Nagara style, while it was not necessary in 
the Dravidian style.

	 2.	 The Nagara style had a linear peak with an 
amalak at the top, while in the Dravidian style, 
the peak was pyramidal and had a stupice on 
top of it.

	 3.	 Gopuram and Parakota are found in dravidian 
style.

	 4.	 The sanctum sanctorum is found in both 
Nagara and Dravidian styles and is rectangular 
in both styles.

		  Which of the above statement(s) are correct?
	 (a)	 1, 2 and 4 only
	 (b)	 1, 2 and 3 only
	 (c)	 3 and 4 only
	 (d)	 1, 2, 3 and 4
	 88.	 Consider the following statements with reference 

to hoysala carpet temple.
	 1.	 Hoysala temples fall under the Besar style.
	 2.	 The Hoysala carpet temple has been 

constructed using materials like soapstone, 
granite, cyst stone and wood.

	 3.	 The base of these temples is star-shaped.
		  Which of the above statements are correct?
	 (a)	 1 and 2 only	 (b)	 1 and 3 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3
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	89.	 fuEufyf[kr ;qXeksa ij fopkj dhft;s%

	 	 eafnj		 dky[kaM
	 1.	 c`gns'oj eafnj	 &	pksy dky
	 2.	 dSyk'k xqgk eafnj	 &	jk"VªdwV dky
	 3.	 iV~Vndy ds fo#ik{k eafnj	 &	pkyqD; dky
	 4.	 dkaph dk dSyk'kukFk eafnj	 &	iYyodkyhu

	 	mi;ZqDr ;qXeksa esa ls dkSu&ls lqesfyr gSa\

	 (a)	 dsoy 1] 2 vkSj 4
	 (b)	 dsoy 1] 2 vkSj 3
	 (c)	 dsoy 3 vkSj 4
	 (d)	 1] 2] 3 vkSj 4

	90.	 dqrqcehukj dk fuekZ.k@ejEer fuEufyf[kr esa ls fdu 
'kkldksa ds dky esa gqvk Fkk\

	 1.	 dqrqcqn~nhu ,scd	 2.	 bYrqrfe'k
	 3.	 X;klqn~nhu f[kyth	 4.	 fiQjks”k 'kkg rqxyd
	 5.	 fldanj yksnh

	 	uhps fn;s x, dwV dk ç;ksx dj lgh mÙkj pqfu;s%

	 (a)	 dsoy 2] 3 vkSj 5
	 (b)	 dsoy 1] 3 vkSj 4
	 (c)	 dsoy 1] 2] 4 vkSj 5
	 (d)	 1] 2] 3] 4 vkSj 5

	91.	 fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 dqOor&my&bLyke efLtn dk fuekZ.k bYrqrfe'k 
us djok;k FkkA

	 2.	 lqYrkux<+h dk edcjk lYrur dky dk igyk 
edcjk gS] ftls cycu us cuok;k FkkA

	 3.	 vykbZ njok”kk dk fuekZ.k vykmn~nhu f[kyth us 
djok;k FkkA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 2 vkSj 3	 (b)	 dsoy 1
	 (c)	 1 vkSj 2	 (d)	 dsoy 3

	92.	 ;wusLdks dh fo'o fojklr lwph esa 'kkfey LFkyksa esa ls 
dkSu&lk ;qXe lgh ugha gS\

	 (a)	 dkthjaxk jk"Vªh; m|ku & vle
	 (b)	 dsoyknso jk"Vªh; m|ku & jktLFkku
	 (c)	 ekul oU;tho vHk;kj.; & eè; çns'k
	 (d)	 uank nsoh jk"Vªh; m|ku & mÙkjk[kaM

	93.	 fuEufyf[kr ;qXeksa ij fopkj dhft;s%

	 	 lkM+h		  {ks=k
	 1.	 dkathoje lkM+h	 &	 rfeyukMq
	 2.	 eksjkaxkiQh lkM+h	 &	 ef.kiqj
	 3.	 bydky lkM+h	 &	 dukZVd
	 4.	 dksfM;y dq:ikj lkM+h	 &	 vka/z çns'k

	 89.	 Consider the following pairs:
		  Temple		  Periods
	 1.	 Brihadeeswara	 –	 Chola Period	

	Temple
	 2.	 Kailash Guha Temple	 –	 Rashtrakuta period
	 3.	 Virupaksha Temple	 –	 Chalukya period
		  of Pattadakal
	 4.	 Kailashnath Temple	 –	 Pallava period	

	of Kanchi
		  Which of the above pairs are matched?
	 (a)	 1, 2 and 4 only
	 (b)	 1, 2 and 3 only
	 (c)	 3 and 4 only
	 (d)	 1, 2, 3 and 4
	 90.	 Qutub Minar was built/repaired during the period 

of which of the following rulers?
	 1.	 Qutbuddin Aibak	 2.	 Iltutmish
	 3.	 Gyasuddin Khilji	 4.	 Feroz Shah Tughlaq
	 5.	 Sikandar Lodi
		  Select the correct answer using the code given 

below:
	 (a)	 2, 3 and 5 only
	 (b)	 1, 3 and 4 only
	 (c)	 1, 2, 4 and 5 only
	 (d)	 1, 2, 3, 4 and 5
	 91.	  Consider the following statements:
	 1.	 The Quwwat-ul-Islam Mosque was built by 

Iltutmish.
	 2.	 Sultangarhi's tomb is the first tomb of the 

Sultanate period, which was built by Balban.
	 3.	 Alai Darwaza was built by Alauddin Khilji.
		  Which of the above statement(s) is/are correct?
	 (a)	 2 and 3 only	 (b)	 1 only
	 (c)	 1 and 2	 (d)	 3 only
	 92.	 Which of the following pairs of sites included in 

unesco world heritage list is not correct?
	 (a)	 Kaziranga National Park - Assam
	 (b)	 Keoladeo National Park - Rajasthan
	 (c)	 Manas Wildlife Sanctuary - Madhya Pradesh
	 (d)	 Nanda Devi National Park - Uttarakhand
	 93.	 Consider the following pairs:
		  Saree		  Region
	 1.	 Kanjeevaram Saree	 –	 Tamil Nadu
	 2.	 Morangafi Saree	 –	 Manipur
	 3.	 Ilkal Saree	 –	 Karnataka
	 4.	 Kodial Kurupar Saree 	 – 	 Andhra Pradesh
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	 	mi;ZqDr ;qXeksa esa ls fdrus lgh lqesfyr gSa\

	 (a)	 dsoy ,d ;qXe	 (b)	 dsoy nks ;qXe
	 (c)	 dsoy rhu ;qXe	 (d)	 lHkh pkjksa ;qXe

	94.	 oL=k fuekZ.k dh rduhd ds lanHkZ esa fuEufyf[kr 
dFkuksa ij fopkj dhft;s%

	 1.	 tkenkuh rduhd esa cqudj liQsn lwrh diM+ksa esa 
gYdk jaxhu iSVuZ Mkydj lkM+h cukrs gSaA

	 2.	 iSBuh rduhd ds varxZr flYd ls cukbZ xbZ çeq[k 
lkM+h vkrh gSA

	 3.	 ckywpjh rduhd esa cqudj }kjk oL=k ij ikSjkf.kd 
dFkkud vafdr fd;k tkrk gSA

	 4.	 cka/uh rduhd esa diM+ksa esa dbZ fcanqvksa dks ,d 
/kxs ls cka/dj fofHkUu jaxksa dk ç;ksx dj fM”kkbu  
esa fd;k tkrk gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1] 2 vkSj 4
	 (b)	 dsoy 1] 2 vkSj 3
	 (c)	 dsoy 3 vkSj 4
	 (d)	 1] 2] 3 vkSj 4

	95.	 yksdu`R; ds lanHkZ esa fuEufyf[kr ;qXeksa ij fopkj 
dhft;s%

	 	 yksd u`R;		  {ks=k
	 1.	 Fkqyky	 &	 dsjy
	 2.	 cwjgk	 &	 mÙkjk[kaM
	 3.	 iaMokuh	 &	 vle
	 4.	 dksFkw	 &	 rfeyukMq

	 	mi;ZqDr ;qXeksa esa ls fdrus lgh lqesfyr ugha gSa\

	 (a)	 dsoy ,d ;qXe	 (b)	 dsoy nks ;qXe
	 (c)	 dsoy rhu ;qXe	 (d)	 lHkh pkjksa ;qXe

	96.	 fuEufyf[kr ;qXeksa ij fopkj dhft;s%

	 	 yksdukV~; eap		  {ks=k
	 1.	 tk=kk	 —	 if'pe caxky
	 2.	 dj;ky	 —	 fgekpy çns'k
	 3.	 HkokbZ	 —	 jktLFkku
	 4.	 FksÕ;ke	 —	 rsyaxkuk
	 5.	 lkax	 —	 vka/z çns'k
	 6.	 rek'kk	 —	 egkjk"Vª
	 7.	 vafd;k ukV	 —	 ef.kiqj 

	 	mi;ZqDr ;qXeksa esa ls dkSu&ls lgh lqesfyr gSa\

	 (a)	 dsoy 1] 2] 3 vkSj 6
	 (b)	 dsoy 1] 2] 4] 5 vkSj 7
	 (c)	 dsoy 3] 5] 6 vkSj 7
	 (d)	 1] 2] 3] 4] 5] 6 vkSj 7

		  How many of the above pairs are correctly 
matched?

	 (a)	 Only one pair	  (b)	 Only two pairs
	 (c)	 Only three pairs 	 (d)	 All four pairs
	 94.	 Consider the following statements with reference 

to the technique of textile manufacturing:
	 1.	 In jamdani technique, weavers make sarees by 

putting light colored patterns in white cotton 
fabrics.

	 2.	 Under the Paithani technique comes the major 
saree made of silk.

	 3.	 In baluchari technique, the mythological plot 
is inscribed on the garment by the weaver.

	 4.	 In the tying technique, many points in the 
clothes are tied with a thread and used in 
different colors in the design.

		  Which of the above statements are correct?
	 (a)	 1, 2 and 4 only
	 (b)	 1, 2 and 3 only
	 (c)	 3 and 4 only
	 (d)	 1, 2, 3 and 4
	 95.	 In the context of folk dance, consider the following 

pairs:
		  Folk Dance		  Region
	 1.	 Thulal	 –	 Kerala
	 2.	 Burha	 –	 Uttarakhand
	 3.	 Pandwani	 –	 Assam
	 4.	 Kothu	 –	 Tamil Nadu
		  How many of the above pairs are not correctly 

matched?
	 (a)	 Only one pair	 (b)	 Only two pairs
	 (c)	 Only three pairs	 (d)	 All four pairs
	 96.	 Consider the following pairs:
		  Lok Natya Manch		  Region 
	 1.	 Jatra	 –	 West Bengal
	 2.	 Karyal	 –	  Himachal Pradesh
	 3.	 Bhavai 	 –	 Rajasthan
	 4.	 Thebayam	 –	  Telangana
	 5.	 Song	 –	  Andhra Pradesh
	 6.	 Tamasha	 –	  Maharashtra
	 7.	 Ankia Nat	 –	  Manipur 
		  Which of the above pairs are correctly matched?
	 (a)	 1, 2, 3 and 6 only
	 (b)	 1, 2, 4, 5 and 7 only
	 (c)	 3, 5, 6 and 7 only
	 (d)	 1, 2, 3, 4, 5, 6 and 7
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	97.	 fuEufyf[kr ;qXeksa ij fopkj dhft;s%

	 	 u`R; laca/h xzaFk		  jpf;rk
	 1.	 laxhr jkt	 —	 jk.kk dqaHkk
	 2.	 laxhr edjan	 —	 ukjn
	 3.	 xqapk, jkx	 —	 nfÙky eqfu
	 4.	 laxhr fparkef.k	 —	 'kkjax nso

	 	mi;ZqDr ;qXeksa esa ls fdrus lgh lqesfyr ugha gSa\

	 (a)	 dsoy ,d ;qXe
	 (b)	 dsoy nks ;qXe
	 (c)	 dsoy rhu ;qXe
	 (d)	 lHkh pkjksa ;qXe

	98.	 fuEufyf[kr ;qXeksa ij fopkj dhft;s%

	 	 jkx		  xk, tkus dk le;@½rq
	 1.	 jkx HkSjoh	 —	 çkr% dky
	 2.	 jkx Jh	 —	 o"kkZ ½rq
	 3.	 jkx ;eu	 —	 'kke ds le;
	 4.	 jkx fgaMksy	 —	 clar ½rq

	 	mi;ZqDr ;qXeksa esa ls fdrus lgh lqesfyr gSa\

	 (a)	 dsoy ,d ;qXe	 (b)	 dsoy nks ;qXe
	 (c)	 dsoy rhu ;qXe	 (d)	 lHkh pkjksa ;qXe

	99.	 fuEufyf[kr ;qXeksa ij fopkj dhft;s%

	 	 ;q¼dyk		  jkT;
	 1.	 ikjhdnk	 —	 i. caxky
	 2.	 flykEce	 —	 rfeyukMq
	 3.	 BksMk	 —	 fgekpy çns'k
	 4.	 Nhch xn&xk	 —	 ef.kiqj

	 	mi;ZqDr ;qXeksa esa ls fdrus lgh lqesfyr gSa\

	 (a)	 dsoy ,d ;qXe
	 (b)	 dsoy nks ;qXe
	 (c)	 dsoy rhu ;qXe
	 (d)	 lHkh pkjksa ;qXe

	100.	 ;wusLdks fØ,fVo flVh”k usVodZ (UCCN) ds lanHkZ esa 
fuEufyf[kr ;qXeksa ij fopkj dhft;s%

	 1.	 Jhuxj	 —	 f'kYi ,oa yksd dyk
	 2.	 gSnjkckn	 —	 ikd dyk
	 3.	 okjk.klh	 —	 laxhr dk jpukRed 'kgj
	 4.	 psUubZ	 —	 fiQYe

	 	mi;ZqDr ;qXeksa esa ls fdrus lgh lqesfyr gSa\

	 (a)	 dsoy ,d ;qXe
	 (b)	 dsoy nks ;qXe
	 (c)	 dsoy rhu ;qXe
	 (d)	 lHkh pkjksa ;qXe

	 97.	 Consider the following pairs:
		  Text of Dancing Tradition		  Author
	 1.	 Sangeet Raj 	 –	 Rana Kumbha
	 2.	 Sangeet Makrand 	 –	 Narada
	 3.	 Gunchae Raag	 –	 Dattil Muni
	 4.	 Sangeet Chintamani 	 –	 Sharang Dev
		  How many of the above pairs are not correctly 

matched?
	 (a)	 Only one pair
	 (b)	 Only two pairs
	 (c)	 Only three pairs
 	 (d)	 All four pairs
	 98.	 Consider the following pairs:
		  Raag		  Time/season to sing
	 1.	 Raag Bhairavi 	 –	 Morning Time
	 2.	 Raag Shri 	 –	 Rain Season
	 3.	 Raag Yaman	 –	 Evening
	 4.	 Raag Hindol 	 –	 Spring Season
		  How many of the above pairs are correctly 

matched?
	 (a)	 Only one pair 	 (b)	 Only two pairs
	 (c)	 Only three pairs 	 (d)	 All four pairs
	 99.	 Consider the following pairs:
		  Martial Art		  State
	 1.	 Parikhanda	 —	 West Bengal
	 2.	 Silambam	 —	 Tamil Nadu
	 3.	 Thoda	 —	 Himachal Pradesh
	 4.	 Cheibi Gad-Ga	 —	 Manipur
		  How many of the above pairs are correctly 

matched?
	 (a)	 Only one pair
	 (b)	 Only two pairs
	 (c)	 Only three pairs
	 (d)	 All four pairs
	100.	 Consider the following pairs in the context of 

UNESCO Creative Cities Network (UCCN):
	 1.	 Srinagar	  –	 Crafts and Folk Arts
	 2.	 Hyderabad	 –	 Cooking
	 3.	 Varanasi	 –	 Creative City of Music
	 4.	 Chennai	 –	 Film
		  How many of the above pairs are correctly 

matched?
	 (a)	 Only one pair
	 (b)	 Only two pairs
	 (c)	 Only three pairs
	 (d)	 All four pairs


